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pd.__version__

'1.0.5'

Pandas ZiX||

Series 244

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0])

S

0.00

0.25

0.50

0.75

1.00
type: float64

O ~AWN — O

s.values

S. index

e S gyanlab

oo O ASOL 2T E] O LA

o suan computer laboratory
0.25
s[1:4]
1 0.25
2 0.50
3 0.75
dtype: float64

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0],
index=['a', 'b', 'c', 'd',

S

0.00

0.25

0.50

0.75

1.00
type: float64

O D OO T QP

sl'c'l

'e'])



1.00

c
d 0.75
e

dtype: float64

True

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0],
index=[2, 4, 6, 8, 10])
S

0.00
0.25
0.50
0.75
10 1.00

5% suanlab

= O[40HHTE| H7A
(2] suan computer laboratory

6 0.50
8 0.75
10 1.00
dtype: float64

o OB~ N

s(4]

s.unique()

array([0. , 0.25, 0.5, 0.75, 1. ])

s.value_counts()

1.00
0.75
0.50
0.25
0.00
dtype: i

S5

t64

s.isin([0.25, 0.75])

2 False



4 True
6 False
8 True
10 False
dtype: bool
pop_tuple = {' NS S EAl': 9720846,
'EAZESAA Al 3404423,
'OIMZAAl 2947217,
"= Al 2427954,
'THEZSE Al 1471040,
'ZEZAAl D 1455048}
population = pd.Series(pop_tuple)

population

NZ2EEAl 9720846
SAZSA A 3404423
Ol Z A A 2947217
CH & Al 2427954
CH& 2 Al 1471040
2= A 1455048
dtype: int64

population[ NS EEAl']

9720846

population[ ' NS ESE AL ) 01 H 2 HAl 4]
AN2SE A 9720846
SAZOAl 3404423

Ol & 2 Al 2947217
dtype: int64

~ DataFrame ZiK|

pd.DataFrame([{'A':2, 'B':4, 'D':3}, {'A':4, 'B':5, 'C':7}])

A B D C
0 2 4 3.0 NaN

1 4 5 NaN 70

pd.DataFrame(np.random.rand(5, 5),
columns=['A", 'B', 'C', 'D', 'E'],
index=[1, 2, 3, 4, 5])



A B C D E
1 0.008643 0.294440 0.437378 0.112411 0.076327
2 0.560204 0.944527 0.800915 0.978915 0.464241
3 0.385648 0.013000 0.558273 0.453111 0.510526

male_tuple = {' ANSEEAl': 4732275,
EAZAAl T 1668618,
'Ol ZAAl T 1476813,
"CH =S Al 1198815,
'CHEZ S Al 734441,
'Z=ZAAl 720060}

male = pd.Series(male_tuple)

male

NESEA 4732275
S A A 1668618
oI Z A A 1476813
CH &< Al 1198815
CHE Z S Al 734441
2 =2 A 720060
dtype: int64

female_tuple = {' NS S Al.:_4988571;
'R ARZESA Al 1735805,
'Ol A ZhO AL 1470404,
CHRZSE Al 1229139,
'CHE &S Al 7365995
‘2 =2 A AT 734988}
female = pd.Series(female_tuple)
female

NZ2EEAl 4988571
SAZ AN 1735805
O™ &S Al 1470404
CH &< Al 1229139
CH&E Z Al 736599
2= A 734988
dtype: int64

—

korea_df = pd.DataFrame({'@/=*4=": population,
"SRl " male,
Aol 4": female})

=y

"o
korea_df



o

ol gXelgts ool
ME2EHE A 9720846 4732275 4988571
korea_df . index
Index(['ASSEAl', "SAZAAl", "QAIMZBAAl", "HHRZIAl', "'HEZGA',
korea_df.columns
Index(['Ql =", 'YXelRz4" "OAIF4"], dtype='object')
korea_df[' G4 KtoI 2 <="]
NESEYA 4988571
AR A A 1735805
Ol & ZH A 1470404
2 Al 1229139
CH& 2 Al 736599
ZZZAA 734988
Name: O KtQl-1=~, dtype: int64
korea df[' M2ESA|':'QIEZHA|']
ol EAelsE ool
ME2EHEA 9720846 4732275 4988571
HAZAA 3404423 1668618 1735805
OIMAHAl 2047217 1476813 1470404
~ Index 24 A
Se= ek
Index UHH Ol Index 24| O], NumPy B € HAlO 2 9| 0|2 B
Int64Index = 22 2t Index
Multilndex CH =0f of2] THA| M2 BEHSHE AS A Index A (F22| Hf S F AL

Datetimelndex

PeriodIndex

=
NumPy2| datetime64 Ef Y2 =2 EfQUAEAT

7|2t QIO & 2l Index

idx = pd.Index([2, 4, 6, 8, 10])
i dx

Int64Index([2, 4, 6, 8, 10], dtype='int64")
idx[1]

4



idx[1:2:2]

Int64Index([4], dtype='int64")

idx[-1::1]

Int64Index([10], dtype='int64")

idx[::2]

Int64Index([2, 6, 10],

print(idx)
print(idx.size)
print(idx.shape)
print(idx.ndim)
print(idx.dtype)

Int64Index([2, 4, 6, 8,
5

(5,)

1

int64

10],

v Index ¢4t

dtype='int64"')

dtype='int64")

& AFX} ML= Ay
append MOT A& F7hst A2 Aol ttat
difference MOl of Kpd et st
& intersection AMQIO| WEBt Hist
| union Aolo| ot Elet Hhat
isin AOIO| EXSH=X| O£ E 2|0 B E 2 et
delete AOIO| AtK| &l A 22 A Ol it
drop O] AP =l |22 MOl dtst
insert AOIO| FE7HEI Af 22 MOl it
is_monotonic AMQI0| TFEAMZ 7HX|™ True
is_unique ZEE[= MQI0| QICHH True
unique MOIO|M BSEEE @48 M7stD S 2ot Hist
idx1 = pd.Index([1, 2, 4, 6, 8])
idx2 = pd.Index([2, 4, 5, 6, 7])
print(idx1.append(idx2))
print(idx1.difference(idx2))
print(idx1 — idx2)
print(idx1.intersection(idx2))
print(idx1 & idx2)
print(idx1.union(idx2))
print(idx1 | idx2)
print(idx1.delete(0))



print(idx1.drop(1))
print(idx1 »~ idx2)

Inté4Index([1, 2, 4, 6, 8, 2, 4, 5, 6, 7], dtype='int64")
Int64Index([1, 8], dtype='int64")

Int64Index([-1, -2, -1, 0, 1], dtype='int64"')
Int64Index([2, 4, 6], dtype='int64")

Int64Index([2, 4, 6], dtype='int64")

Inté4Index([1, 2, 4, 5, 6, 7, 8], dtype='int64")
Int64Index([1, 2, 4, 5, 6, 7, 8], dtype='int64')
Int64Index([2, 4, 6, 8], dtype='int64")

Int64Index([2, 4, 6, 8], dtype='int64"')

Int64Index([1, 5, 7, 8], dtype='int64")

~ OIE A (Indexing)

s = pd.Series([0, 0.25, 0.5, 0.75, 1.0],
index=['a', 'b", 'c', 'd', 'e'l)

S
a 0.00
b 0.25
c 0.50
d 0.75
e 1.00
dtype: floatb4
s['b']
0.25
‘b' ins
True
s.keys()

Index(['a', 'b'", 'c¢', 'd", 'e'], dtype='object')

list(s.items())

[(‘a', 0.0), ('b', 0.25), ('c', 0.5), ('d", 0.75), ('e', 1.0)]



0.50

0.75

1.00

1.25
type: float64

o —+~Dd O O

S[Ial:ldl]

0.00

0.25

0.50

0.75
type: float64

o O O T o

s[0:4]

0.00

0.25

0.50

0.75
type: float64

O O O T o

s[(s>0.4) & (s <0.8

S’ suanlab

B PETEN A

. o3 Suan computer laboratory
1.0
f

e

dtype: float64

Series 21 El A

s =pd.Series(['a', 'b', 'c', 'd", 'e'],
index=[1, 3, 5, 7, 9])
S

O O NO1Ww —
O O O T ®

type: object

s[1]



s[2:4]

5 c
7 d
dtype: object

s.iloc[1]
1 b 1
s.iloc[2:4]
5 C
7 d

dtype: object

s.reindex(range(10))

0 NaN
1 a
2 NaN
3 b
4 NaN
5 c
6 NaN
7 d
8 NaN
9 e
dtype: object

s.reindex(range(10) ,~methed="of i)

O ® OO O O T T M ®

0
1
2
3
4
5
6
7
8
9
d

type: object

v DataFrame QI ElAl

AL i A
df[val] StLio| ZE = o ZE 2 ME
df.loc[vall St 2 20| 2R TT ME
df.locl:, vall BfHiZfo 2 Z o HE TG ME
df.loclvall, val2] SHAICE 2R A FET T MEY
df.iloc[where] Y= Mooz 29| HEFS ME



A W a9
df.iloc[:, where] = Moloz HAEHO| 22 EDH MEH
df.iloclwhere_i, where_j] == MOIOZ 2o} HAHO| £2FI5 MEH
df.at[label_i, label_j] ERt Ao etz T g ME
df.iatli, j] ERQF AHO| = MOIOE Tt Zf MEH
reindex SHLE O| Mo =2 ME2 MOl = TjMQl
get_value, set_value ERQt ZEO| 0| E2 = 7f MH

korea_df

Q14
MEEEA 9720846
HAMIAA 3404423
OIMAHAl 2947217
CHTZAA| 2427954
CHRZHAl 1471040
SFEHAl 1455048

korea_df[' & AtQl 2 <="]

NESEAl 4732275
SAZAA 1668618
EESET ge-PN 1476813
U= Al 1198815
& Z Al /34441
SFEAA #20060

XAl
4732275
1668618
1476813
1198815

734441

720060

Name: S ACIF2 ==, dtype: int64

korea_df . & Xl 2 4=

NESEAl 4732275
SAZAAl 1668618
QlEZ A Al 1476813
=& Al 1198815
HEZSA 734441
SFEAA 720060

Name: = AtQI-1=~, dtype: int64
korea_df .4 Xtol 2=
NESEA 4988571
S A AN 1735805
Ol & 2 Al 1470404
CH=2 2 Al 1229139
CH& 2 Al 736599
AN 734988

Name: O AtQl2=~, dtype: int64

lraran AFT'LEMHHIK!'T = (lbAaraa AfTTLETIOIOA'T « A0N [ LAaran AfT'MHTLOIZOA T

o X}l 5=
4988571
1735805
1470404
1229139

736599

734988



korea_df['¢Ql

korea_df . &0l

REEEN
A A
Ol F 22 Al
CHPZ A
CHE 22 A
EIESSEN

korea_df .values

94 .862336
96. 129346
100.435867
97.532907
99.707032
97.968946
Name: Y 0{Hl=, dtype: float64

nUiI ca_ui L oviul=2 ] — \nuiI<ca_ul | o/N =TT ] o

IUU / NUIGA_UIl | Vil w | T 1)

array([[9.72084600e+06, 4.73227500e+06, 4.98857100e+06, 9.48623363e+01],
3.40442300e+06, 1.66861800e+06, 1.73580500e+06, 9.61293463e+01],
2.94721700e+06, 1.47681300et06, 1.47040400e+06, 1.00435867e+02],

1.47104000e+06, 7.34441000e+05, 7.36599000e+05, 9.97070319e+01],

[
[
[
[2.42795400e+06, 1.19881500e+06, 1.22913900e+06, 9.75329072e+01],
[
[

1.45504800e+06, 7.20060000e+05, 7.34988000e+05, 9.79689464e+01]])

korea_df.T

REEER

>-ure

Lt
[=]

xf

Ol 4.732275e+06

=1

korea_df.values[0]

LA

1.668618e+06

QI F e A|

- -0

1.476813e+06

T B A

9.720846e+06- 3.404423e+06 2.947217e+06  2.427954e+06

ChEHZ oA

1.471040e+06

array([9.72084600et06, 4.73227500et06, 4.98857100et06, 9.48623363et01])

A
e

NESEA
SAZAA
EESET gePN
U= Al
HEZ Al

EESEN

]

9720846
3404423
2947217
2427954
1471040
1455048

Name: Ql=1=~, dtype: int64

korea_df.loc[:'¢Q!

HZAA, -

o

ol

ZYYA

1.455048e+06

1.198815e+06 7.344410e+05 7.200600e+05



AT wxfoITS

korea_df . loc[(korea_df.Od XtQI24= > 1000000) ]

el EXlfs Xl EHojd| &
MEEHA| 9720846 4732275 4988571 94.862336
AT 3404423 1668618 1735805 96.129346
OIMEAHA 2047217 1476813 1470404 100.435867
CHEHA 2427954 1198815 1229139  97.532907
korea_df . loc[(korea_df.2!l322= < 2000000) ]
el HXlfE oXpelgty HoH|E
CHHEZHA] 1471040 734441 736599 99.707032
TEHAA 1455048 720060 734988 97.968946
korea_df . loc[ (korea_df .@k=2==(> 2500000) ]
eIt EXel 2. XIS HojH|
MEBEHA| 9720846 4732275 4988571 94.862336
A Al 3404423 1668618 1735805 .. 96.129346
OIMEHA| 2047217 1476813 1470404 100.435867
korea_df . loc[korea_df.20ddlE€ > 100]
el EXelfs Xl Hojd| &
OIMAAN 2947217 1476813 1470404 100.435867

korea_df.loc[(korea_df.l2<4= > 2500000) & (korea_df.=0dH|E& >
olt Xl ool Hojd| g
OIMEHA 2047217 1476813 1470404 100.435867

korea_df.iloc[:3, :2]
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Series

korea_df

Q=
Al 9720846
3404423
2947217
2427954
1471040

1455048

x

0 2 2o

A
Al
A,
Al
AL,
AL,

idx_tuples = [

19 18 JR719 JQ nE

OF 08 050 Joi Jjm

42z 1

idx_tuples

[

'MEEEAlT, 2010

NESEEAlI", 2020),
'SEAZAALY, 2010),
'Eié_**O‘AI' 2020
OIEZAAlY, 2010
I AAT, 2020
=2Z AT,

(
(
(
(
(
(
(I

('CHRZAAl, 2020) . ,
(I

(
(
(

Series®} 2K} 29| DataFrame 21N E 4
A Lof o QIEIA S Hotsh= CHs QIE A

LFkTLOI 7T A

& (Multi Indexing)

|

A

Xl ofXfQIgs Hojd| g
4732275 4988571 94.862336
1668618 1735805  96.129346
1476813 1470404 100.435867
1198815 1229139  97.532907

734441 736599  99.707032
720060 734988  97.968946
2mm,CM%%gMu2wm,

10), (' SAZSALL 2020),
2010) (' OIRIZ Al 12020) ,
2mm,vm?%§Mu2wm,

10),. (CCHEZS A, 20200,
2010), (' 2=z AT 12020)]

CHEZS A", 2010),
'HEZSEAI, 2020
'%*$"*°E'/\I' 2010),
ZEZAA, 2020]
pop_tuples = [10312545, 9720846,
2567910, 3404423,
2758296, 2947217,
2511676, 2427954,
1503664, 1471040,
1454636, 1455048]
population = pd.Series(pop_tuples, index=idx_tuples)

population

O| Xt H|OlH A2
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midx = pd.Multilndex.from_tuples(idx_tuples)

midx

MultiIndex([

, 2010

, 2010
, 2020
, 2010
, 2020
, 2010

2020

2020
2010
2020
2010
2020
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o =
=25
b od
[e> R |
b b od
o M

i ye;]
S M

A
A

>.

‘

>

2} od
[T |
2} oo
(==l |
2} o
[S= St |
oo
O T
o

o

[e;]

o~~~ o~ o~~~ o~ o~ o~ o~ —

HEIQ Il
A A A

0RO 0
19 ]

10312545
9720846
2567910
3404423
2758296
2947217
2511676
2427954
1503664
1471040
1454636
1455048

Al'", 2010
Al'", 2020
Al'", 2010),
AL, 2020),
Al'", 2010),
A", 2020
Al, 2010
A", 2020
Al 2010)
Al /2020),
A, 2010),
A", 2020) ]

population = population.reindex(midx)

population

ANZ2SZEAl 2010 10312545
2020 9720846

SArZA Al 2010 2567910
2020 3404423

SIMZAAl 2010 2758296
2020 2947217

&S Al 2010 2511676
2020 2427954

CHEZS Al 2010 1503664
2020 1471040

ZF=ZAAl 2010 1454636
2020 1455048

dtype: int64

population[:, 2010]

NEEEA 10312545

S LS A 2567910

oI Z A A 2758296

CH &S Al 2511676

CHE Z S Al 1503664

Z=Z AN 1454636

dtype: int64



population[ CHEZ A", ]
2010 1503664
2020 1471040
dtype: int64

korea_mdf = population.unstack()

korea_mdf
2010 2020
EFEIAA 1454636 1455048
CHt&YAl 2511676 2427954
CHEEHAl 1503664 1471040
HAMZAAl 2567910 3404423
MEEHA 10312545 9720846
OIMTAHA|l 2758296 2947217
korea_mdf .stack()
2E=2AAl 2010 1454636
2020 1455048
CHRZS Al 2010 2511676
2020 2427954
CHEZAAl 2010 1503664
2020 1471040
SAZAA 2010 2567910
2020 3404423
MN2EYA 2010 10312545
2020 9720846
OIRZAAl 2010 2758296
2020 2947217
dtype: int64

male_tuples = [5111259, 4732275,

1773170, 1668618,
1390356, 1476813,
12556245, 1198815,
753648, 734441,
721780, 720060]

male_tuples

(5111259,
4732275,
1773170,

668618,

390356,

476813,

255245,

1198815,

1
1
1
1



753648,

734441,
721780,
720060]
korea_mdf = pd.DataFrame({'ZQl2%=": population,
"SRRI male_tuplest)
korea_mdf
74 dxjeIR4
M2EHA 2010 10312545 5111259
2020 9720846 4732275
BAZAAl 2010 2567910 1773170

2020 3404423 1668618

re
ra
oH
12
>

2010 2758296 1390356
2020 2947217 1476813
CH2Al 2010 2511676 1255245

2020 2427954 1198815

fin]
ra
ol
19
>

2010 1503664 753648

2020 1471040 734441

ot
ml
ol
12
=

2010 , 1454636 721780
2020 @ 1455048 720060

female_tuples = [5201286, 4988571,
1794740, 1735805,
1367940, 1470404,
1256431, 1229139,
750016, 736599,
732856, 734988]
female_tuples

(5201286,
4988571,
1794740,
1735805,
1367940,
1470404,
1256431,
1229139,
750016,
736599,
732856,
734988]

korea_mdf = pd.DataFrame({'&0l 3
‘gt
"4 Xkel

: population,
2" male_tuples,
A

T

_J'k_
?.
2==": female tunlest)



korea_mdf

X
Mo
Jm
e
z

2010

2020

4
=
ol
12
=

2010

2020

2010

re
rat
ol
19
>

2020
CHEHAl 2010

2020

fin
ra
ol
10
>

2010

2020

oi
.l
ol
12
=

2010

2020

ratio = korea_mdf['& Xl 22="] % 100/ korea_mdf [ 'O KkQl =2 %= ']

ratio

NESEA
2020
S A A

2020
A A
2020
CH2& S Al
2020
CH& 2 Al
2020
ZFZ AN
2020
dtype: float64

2010

2010

e

2040
2010
2010

2010

ratio.unstack()

10312545
9720846
2567910
3404423
2758296
2947217
2511676
2427954
1503664
1471040
1454636

1455048

98. 269140
94.862336
98.798155
96 ; 129346
1011 .638668
100.435867
99.905606
97.532907
100. 484256
99.707032
98.488653
97.968946

CR Ny
5111259
4732275
1773170
1668618
1390356
1476813
1255245
1198815

753648
734441
721780

720060

O Xl gt
5201286
4988571
1794740
1735805
1367940
1470404
1256431
1229139

750016
736599
732856

734988



korea_mdf = pd.DataFrame({'

korea_mdf

v [I=

ZF0l324": population,
"Xl =" male_tuples,
"0 R 24" female_tuples,

'SOHI8 tratio})

X
o
Jm
3
=

4
>
of
12
=

re
ra
ol
12
>

TR Z A

fin]
ra
ol
19
>

ot
ml
ol
12
=

2010
2020
2010
2020
2010
2020
2010
2020
2010
2020
2010
2020

0174 WAL OfRIATS
10312545 5111259 5201286
9720846 4732275 4988571
2567910 1773170 1794740
3404423 1668618 1735805
2758296 1390356 1367940
2947217 1476813 1470404
2511676 1255245 1256431
2427954 1198815 1229139
1503664 753648 750016
1471040 734441 736599
1454636 721780 732856
1455048 720060 734988

AH A

o &l A
— O O

[ |

df = pd.DataFrame(np.random.rand(6, 3),
index=[['a', '

df

columns=["'c1",

cl

0.787723

2 0.982661

0.385435

2 0.550690

0.155001

2 0.339056

c2
0.488996
0.120751
0.858297
0.356138
0.019116

0.175161

pd.Multilndex.from_arrays([['a',

Multilndex([('a',
(‘a'

’

1),
2),

a

|7 lbl,
|02|’

c3
0.598397
0.718474
0.051731
0.521237
0.938892

0.864092

Ibl ,
'c3'])

(O

c'l,

Eo{H| &
98.269140
94.862336
98.798155
96.129346

101.638668
100.435867
99.905606
97.532907
100.484256
99.707032
98.488653

97.968946



N — N —

pd.Multilndex.from_tuples([('a", 1), ('a', 2), ('b", 1), ('b",

Multilndex([

a
a,
b',
b
c
c

N —= N —= N —
—_— — — — — —

pd.Multilndex.from_product([['a', 'b", 'c'], [1, 2]])
Multilndex([('a", 1),
(‘a', 2),
('b", 1),
('b', 2),
('c', 1),
('c', 2)l,

pd.Multilndex(levels=[[fa.,.'b', 'c¢c'T,[1,72]],
codes=[[0, 0, 1, 1, 2, 2], [0, 1, 0, 1, O, 1]1])

Multilndex([('als 1)
(‘a', 2),
("bhg 1)
(b2 B
('c', 1),
('c', 2)1,
)

population

AN2SZEAl 2010 10312545
2020 9720846
SArZSA Al 2010 2567910
2020 3404423
M2 Al 2010 2758296
2020 2947217
&9 Al 2010 2511676
2020 2427954
CHEZSA Al 2010 1503664
2020 1471040
ZF=ZAAl 2010 1454636
2020 1455048
dtype: int64

O

F

in
]

population.index.names = ['S#HAH A" !
population



(o]
SHAl 2010 10312545
2020 9720846
SArZSAAl 2010 2567910
2020 3404423
SIXZSAAl 2010 2758296
2020 2947217
&9 Al 2010 2511676
2020 2427954
CHEZS Al 2010 1503664
2020 1471040
ZF=ZAAl 2010 1454636
2020 1455048
dtype: int64

idx = pd.Multilndex.from_product([['a', 'b", 'c¢'], [1, 2]1],
names=[ 'namel', 'name2'])
pd.Multilndex.from_product([['c1", 'c2', 'c3'], [1, 211,
names=['col_name1', 'col_name2'])
data = np.round(np.random.randn(6, 6), 2)
mdf = pd.DataFrame(data, index=idx, columns=cols)

cols

mdf
col_namel . cl c2 c3
col_name2 1 2 1 2 1 2
namel name2
a 1 -0,13 _-1.66 ,0.58 .-0.28_0.58 _1.08
2 2.08 0.30 070" 1.12"-0:60 -0.08
b 1 068 ~2:13+0:92; 10.65-0.88, =002
2 0.26 -2.44 127 065 1.68 0.97
c 1 -0.26 0.08 0.28 0.78 0.95 -0.11
2 269 -062 0.60 -0.67 0.25 0.40
mdf['c2']
col_name2 1 2
namel name2
a 1 0.58 -0.28
2 0.10 1.12
b 1 0.92 0.65
2 1.27 0.65
c 1 0.28 0.78

2 0.60 -0.67



Rl A 3 =204
population
HEASE EHE
AME2EEAl 2010 10312545
2020 9720846
SAarZSA Al 2010 2567910
2020 3404423
OIMEAAl 2010 2758296
2020 2947217
&< Al 2010 2511676
2020 2427954
HEZS Al 2010 1503664
2020 1471040
ZFZAA 2010 1454636
2020 1455048
dtype: int64
population[ ' QI&EZHAl', 2010]
2758296

population[:, 2010]

By
NESEA
A A
Ol & 22 Al
2 Al
CHE 2 Al
EESEN

dtype:

10312545
2567910
2758296
2511676
1503664
1454636

int64

population[population > 3000000]

HEPHE HEHE

ANZ2EZEA 2010 10312545
2020 9720846

SAZAAl 2020 3404423

dtype: int64

population[['CHRZ A", "THEZHAI']]

HYE S EHE

&< Al 2010 2511676
2020 2427954

HEZSA Al 2010 1503664
2020 1471040

dtype: int64

md f



cl

-0.13
2.08
0.68
0.26

-0.26

2.69

-1.66
-0.30
-2.13
-2.44

0.08

-0.62

dtypei~floatb4

cl

-0.13

2.08

col_namel
col_name2
namel name2
a 1
2
b 1
2
c 1
2
mdf['c2', 1]
namel name?2
a 1 0.58
2 0.10
b 1 0.92
2 1.27
C 1 028
2 0.60
Name: (c2, 1),
mdf.iloc[:3, :4]
col_namel
col_name2, ~1
namel name2
a 1
2
b 1

mdf.loc[:, ('c2", 1)]

namel name?2
a

b

1
2
1
2
c 1
2

Name: (c2, 1),

0.58
0.10
0.92
1.27
0.28
0.60

0.68

2

-1.66
-0.30

-2.13

dtype: floatb4

idx_slice = pd. IndexSlice
mdf.loclidx_slicel:, 2], idx_slicel[:, 2]]

c2

0.58
0.10
0.92
1.27
0.28

0.60

c2

0.58
0.10

0.92

-0.28

0.65
0.65
0.78

-0.67

-0.28
1.12

0.65

c3

0.58
0.60
0.88
1.68
0.95

0.25

1.08
-0.08
-0.02
0.97
-0.11

0.40



idx

col_namel

col_name2

namel

Multilndex(

korea_mdf

o
oA
41
19

x

o
Jm
nE
>

4
>
ok
12
R

re
rat
oK
12
>

R A

2
ra
ol
19
>

ol
4
ol
i)
=

[

n

D o~~~ o~ —~ —~

name2

2

Ia\7

Ia\’

b
b
c
c

I |

’
I |
’

mes=|

He
2010
2020
2010
2020
2010
2020
2010
2020
2010
2020
2010

2020

SN = N — N —
T — — — ~— — ~—

cl c2

-0.30

1.12

c3

-0.08

-244 065 0.97

-0.62

]

oh
ro
4
1

10312545
9720846
2567910
3404423
2758296
2047217
2511676
2427954
1503664
1471040
1454636

1455048

korea_mdf = korea_mdf.sort_index()
korea_mdf

-0.67

0.40

amel', 'name2'])

5111259
4732275
1773170
1668618
1390356
1476813
1255245
1198815

753648

734441

721780

720060

oixtol 4

5201286
4988571
1794740
1735805
1367940
1470404
1256431
1229139

750016

736599

732856

734988

Eo{H|E

98.269140
94.862336
98.798155
96.129346
101.638668
100.435867
99.905606
97.532907
100.484256
99.707032
98.488653

97.968946



0174 WAL ORATE  HoH|

YYIY WE
LFEZYOAl 2010 1454636 721780 732856  98.488653

2020 1455048 720060 734988  97.968946
CHRZYAl 2010 2511676 1255245 1256431  99.905606
2020 2427954 1198815 1229139  97.532907
CHMZSAl 2010 1503664 753648 750016 100.484256
2020 1471040 734441 736599  99.707032

2010 2567910 1773170 1794740  98.798155

4r
i
ok
12
=

2020 3404423 1668618 1735805 96.129346

X
o
Jm
e
=

2010 10312545 5111259 5201286  98.269140
2020 9720846 4732275 4988571 94.862336

QIEEAHAl 2010 2758296 1390356 1367940 101.638668

korea_mdf[ ' ASEYAl': 'L AAl']

OR¥

Qs EXIUTE Ofxlfs 2ojH| &

¥HEAY 9

MZ5YAl 2010 10312545 , 5111259.... 5201286, 98.269140
2020 < “9720846 - 4732275 74988571y 94.862336

QMBS 2010 | ~2758296 1390356} 1367940+ 101.638668

2020 2947217 1476813 1470404 100.435867

korea_mdf .unstack( level=0)

sol74 IR

WY TIT PF OEF 24T NSEE  ANZ  BIT P N3
3 A HA 9N GAl A A HA Al N
HE

2010 1454636 2511676 1503664 2567910 10312545 2758296 721780 1255245 75364

2020 1455048 2427954 1471040 3404423 9720846 2947217 720060 1198815 73444

korea_mdf .unstack(level=1)



R Xl

HE 2010 2020 2010 2020
LR

+9

=

oT

2" 1454636 1455048 721780 720060
Al

CH+*

2" 2511676 2427954 1255245 1198815

A1y Uk
FZEA 2010 ¢ 1.454636e+06
e Aol =2 == 7.217800e+05
O Kl =2 == 7.328560e+05
g0dl= 9.848865e+01
2020 sel= 1.455048e+06
SRR 7.200600e+05
O XHQI =t == 7.349880e+05
g0dl= 9.796895e+01
CHRZEHAl 2010 SJQl= 2.511676e+06
e Aol == 1.255245e+06
O Ktol s == 1.256431e+06
g0dlE 9:990561e+01
2020 =Zelf 2.427954e+06
g Aot 1.198815e+06
O4 At OL=2 = 1.229139%e+06
= (0] =3 9.753291et01
CHEZ Al 20107 SLIF = 1.503664e106
SRR 7.536480e+05
OfLp ol == 7:500160e+05
g0tl= 1.004843e+02
2020 sel+# 1.471040e+06
e Aol =2 == 7.344410e+05
O Kl =2 == 7.365990e+05
g0dl= 9.970703e+01
SoZEAA 2010 B4 2.567910e+06
EPARUEE 1.773170e+06
O XHQI =t == 1.794740e+06
g0dl= 9.879815e+01
2020 seli= 3.404423e+06
Aol = 1.668618e+06
O Kpl = == 1.735805e+06
g0tl= 9.612935e+01
MESE8Al 2010 S24= 1.031254e+07
g ARl = 5.111259e+06
O KOl =2 == 5.201286e+06
=g0dl= 9.826914e+01
2020 sel= 9.720846e+06
e Al 2 == 4.732275e+06
O Kpl == 4.988571e+06
=g0dl= 9.486234e+01
IMZEAHAl 2010 ZQ+= 2.758296e+06
e Aol =2 == 1.390356e+06
O Kol =2 == 1.367940e+06
g0dl= 1.016387e+02

oixtol 24

2010

732856

1256431

2020

734988

1229139

=g

2010

98.488653

99.905606

2020

97.968946

97.532907



2020 sels 2.947217e+06

e Aol 2 == 1.476813e+06
O Kpl - == 1.470404e+06
g0tl= 1.004359e+02

dtype: float6b4

korea_mdf
ol YXjelts oXtels LHojd| &
WYY dHE
ZEIAAl 2010 1454636 721780 732856  98.488653

2020 1455048 720060 734988  97.968946
CHZSAl 2010 2511676 1255245 1256431  99.905606

2020 2427954 1198815 1229139  97.532907

2
rad
ol
19
>

2010 1503664 753648 750016 100.484256

2020 1471040 734441 736599  99.707032

BAZAA 2010 2567910 1773170 1794740  98.798155
2020 . 3404423 1668618 1735805 . 96.129346
M2EHA| 2010 10312545 5111259 5201286 = 98.269140
2020 9720846 4732275 4988571  94.862336
QIHAHAl 2010 2758296 . 1390356 | 1367940 1101.638668

2020 © 2947217 1476813 1470404"-100.435867

idx_flat = korea_mdf.reset_index(level=0)
jdx_flat



idx_flat = korea_mdf.reset_index(level=(0, 1))

jdx_flat

10
1"

idx_flat.set_index([

o
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o
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o
12
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12
Rt

CHE&
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™ Mo mo rx rx
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12 nE nNE 18 1
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ro
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o
19
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HE
2010
2020
2010
2020
2010
2020
2010
2020
2010
2020
2010
2020

el
1454636
1455048
2511676
2427954
1503664
1471040
2567910
3404423
10312545
9720846
2758296

2947217

Xl
721780
720060
1255245
1198815

753648

734441
1773170
1668618
5111259
4732275
1390356

1476813

O xpel
732856
734988
1256431
1229139

750016

736599
1794740
1735805
5201286
4988571
1367940

1470404

eto{H| &
98.488653
97.968946
99.905606
97.532907
100.484256
99.707032
98.798155
96.129346
98.269140
94.862336
101.638668

100.435867



v OjOJ & &Lk

STEHAM 2010 140540636 (21780 (32800 Y8.488003

s = pd.Series(np.random.randint(0, 10, 5))
S

O ~AWNMN — O
Woo M~

type: int64

T =0 1771 ~—VIi1v LIvVIl I v 1rrovilIrv [ AR e A V) JU. I IV 1VV

df = pd.DataFrame(np.random.randint(0, 10, (3, 3)),
columns=['A", 'B', 'C'])
df

0 403.428793
1 54 .598150
2 54.598150
3 2980.957987
4 20.085537
dtype: float64

np.cos(df * np.pi / 4)

A B C
0 0.707107 1.000000 -7.071068e-01
1 1.000000 -0.707107 -1.836970e-16

2 1.000000 -1.000000 -1.836970e-16

s1 = pd.Series([1, 3, 5, 7, 9], index=[0, 1, 2, 3, 4])
s?2 = pd.Series([2, 4, 6, 8, 10], index=[1, 2, 3, 4, 5])
s + s2

0 NaN

1 5.0

2 9.0

3 13.0



4 17.0
5 NaN
dtype: floatb4

si.add(s2, fill_value=0)

.0
.0
.0
.0
.0
.0

O N W oo —

0
1
2
3 1
4 1
5 1
dtype: float64

df1 = pd.DataFrame(np.random.randint(0, 20, (3, 3)),
columns=Ilist('ACD"))

df1
A C D
0 3 49
16 19 9
2 3 60

df2 = pd.DataFrame(np.random.randint(0, 20, (5, 5)),
columps=1,4st (.BAECD ')

df2
B A E C~ D
0 13 14 9 0 5
1 14 6 2 14 13
2 11 14 19 17 3
3 18 18 8 7 13
4 14 15 2 6 1
df1 + df2

0 170 NaN 4.0 14.0 NaN

1 120 NaN 33.0 22.0 NaN

2 17.0 NaN 23.0 3.0 NaN

3 NaN NaN NaN NaN NaN

4 NaN NaN NaN NaN NaN



fvalue = df1.stack().mean()
df1.add(df2, fill_value=fvalue)

A
0 17.000000
1 12.000000
2 17.000000
3 24.555556

4 21.555556

v GG EE S

mok

v add()

19.555556

20.555556

17.555556

24.555556

20.555556

A
T

C
4.000000
33.000000
23.000000
13.555556

12.555556

Python ¥ AkX}

D E
14.000000 15.555556
22.000000 8.555556
3.000000 25.555556
19.555556 14.555556

7.555556  8.555556

Pandas &&=

.I_

*

/
/1
%.

* %

a = np.random.randint(14 90, size=(3, 8))

a + al0]

array([[14, 16,
[14, 13,
[14, 11,

12],
12],
14]11)

df = pd.DataFrame(a, columns=Iist('ABC'))

df

add, radd

sub, rsub, subtract
mul , rmul, multiply
truediv, div, rdiv, divide
floordiv, rfloordiv

mod

pow, - rpow



df + df.iloc[0]

A B C
0 14 16 12
1 14 13 12
2 14 11 14

df.add(df.iloc[0])

A B C
0 14 16 12
1 14 13 12
2 14 11 14

v sub() / subtract()

a Ssuanlab

array([[7, 8, 6],
[7, 5,
I
e a))|-|'|_|' BHE 94
2 - alo] suan computer laboratory
array([[ 0, 0, 0],
[0, -3, 0],
[0, -5 2]1)
df
0 7 8 6
17 5 6
2 7 3 8

df - df.iloc[0]



A B C

df .sub(df.iloc[0])

A B C
0 0 0O
1 0 30
2 0 -5 2

df .subtract(df['B'], axis=0)

A B C
-2
1

o o o

5

- mul() / muitply( 3 sSsUudn I a b

a1 | &OF ZTE| HITLA

[7, 3, 8]1)

suan computer laboratory

a x a[t]

array([[49, 40, 36],
[49, 25, 36],
[49, 15, 48]])

df

df = df.iloc[1]



A B C

0 49 40 36

df .mul (df.iloc[1])

A B C
0 49 40 36
1 49 25 36
2 49 15 48

df .multiply(df.iloc[2])

A B C
0 49 24 48
1 49 15 48
2 49 9 o4

v truediv() / div() / divid rs()u a n I a b

array([[7, 8, 6], | I— =1TE-1 q?-l-
75 Bwan computer laboratory

a / al0]
array([[1. 1. 1. 1,
[1. , 0.625 , 1. I,
(1. 0.375 1.33333333]1)
df
A B C
0 7 8 6
1 7 5 6
2 7 3 8

df / df.iloc[0]



A B C
0 1.0 1.000 1.000000
1 1.0 0.625 1.000000
df . truediv(df.iloc[0])

A B C
0 1.0 1.000 1.000000
1 1.0 0.625 1.000000
2 10 0.375 1.333333

df .div(df.iloc[1])

A B C
0 1.0 1.6 1.000000
1 1.0 1.0 1.000000
2 10 06 13

E suanlab

Ol e Ol

0 1.0 2.666667

. 10 1s:3H@0 CcOmMputer laboratory

2 1.0 1.000000 1.00

a // al0]
array([[1, 1, 1],

[1, 0, 11,
(1, 0, 111)

df . floordiv(df.iloc[0])



61,
61,
. 811)

array([[7,
(7,
(7,

w O @

a % al0]

o

. 0],
0],
211)

array([[0,
[0,
[0,

wWw O

df

df.mod(df.;lo:[o? 3 sSuadn I a b

0 0 0O ,‘J‘~,
e+ O[Ot FEE] A
z 0 3 2 glyagn computer laboratory

v pow()

array([[7, 8, 6],
(7, 5, 6],
(7, 3, 811)

a *xx a[0]

array([[ 823543, 16777216,
[ 823543, 390625,
[ 823543, 6561,

df

466561 ,
466561,
262144]1)



A B C

0 7 8 6

df .pow(df.iloc[O])

A B C
0 823543 16777216 46656
1 823543 390625 46656
2 823543 6561 262144

row = df.iloc[0, ::2]
row

Name: 0, dtype: int64

A Ssuanlab

2 o ZZZ(ZI-¢-° ATE EA
suan computer laboratory

v ‘4 (Sort)

s = pd.Series(range(5), index=['A', 'D', 'B', 'C', 'E'])
S

AN —-O

A
D
B
C
E
dtype: int64

s.sort_index()

A 2w O

A
B
C
0
E
d

type: int64



s.sort_values()

AL —-O

A
D
B
C
E
dtype: int64

df = pd.DataFrame(np.random.randint(0, 10, (4, 4)),
index=[2, 4, 1, 3],
columns=1ist('BDAC'))

df

~=.Srsuaniab

DIt ZFE] AL
suan computer laboratory

w RN
Lo w o N
o o © =

- B~ 00

df .sort_index(axis=1)

E-Y

o » b
o]

o o o @ H
o

df .sort_values(by='A")



B D A C

3 3 51 6
df .sort_values(by=['A", 'C'])

B DA C

AN ©®
N o O W
o © O
N
o o @~ O

v &=%|(Ranking)

HAE 49
average 7|24t =90 22 US /A= S =S BRUS AHE
min A2 US /s 182 2 =2 XE
max 22U M 182 =2 =2 XNE
OOl LHol &[X|0f| et =% X8

N
g

suantab

s = pd.Series([-2, 4, 7,3, 0,7, 5, -4, 2, 6])

., O|OHATE AiA

0 -2

1 4

. 7 suan computer laboratory

3 3

4 0

5 7

6 5

7 4

8 2

9 6

dtype: int64
s.rank()

0 2.0

1 6.0

2 9.5

3 5.0

4 3.0

5 9.5

6 7.0

7 1.0

8 4.0

9 8.0

dtype: float64

0 7 _ i _ 0 .20 ___ [ O



S.rankimetnoa= T11rst )

—
O =2~ JOWOILWOWO®®N

— O O OO OO OO

0
1
2
3
4
5
6
7
8
9
d

type: float64

s.rank(method="'max")

—_

—
DO = NJOWOITOOMN

0 0
1 0
2 0
3 0
4 0
5 .0
6 0
7 0
8 0
9 0
d |

type: float64
- 145 A

nrows, ncols = 100000, 100
df1, df2, df3, df4 ==(pd.Pataframe(np.random.rand{nrowss ncols))forlillinyrange(4))

timeit df1 + df2 + df3 + df4

10 loops, best of 3: 62.7 ms per loop

%timeit pd.eval('df1 + df2 + df3 + df4')

10 loops, best of 3: 41.5 ms per loop

%timeit df1 = —df2 / (-df3 » df4)

10 loops, best of 3: 94.4 ms per loop

%timeit pd.eval('df1 » -df2 / (-df3 * df4)')

10 loops, best of 3: 52.2 ms per loop

%timeit (df1 < df2) & (df2 <= df3) & (df3 != df4)

1 loop, best of 3: 330 ms per loop



%timeit pd.eval('(df1 < df2) & (df2 <= df3) & (df3 != df4)')

10 loops, best of 3: 93.1 ms per loop

df = pd.DataFrame(np.random.rand(1000000, 5), columns=['A', 'B', 'C',

df .head()

A
0 0.809568
1 0.271222
2 0.651753
3 0.061394

4 0.615251

0.914763

0.670036

0.925138

0.784605

0.195590

C

0.602827

0.400662

0.942498

0.952853

0.981553

D

0.486493

0.525909

0.087579

0.435291

0.741863

E

0.535205

0.161296

0.216714

0.176985

0.096994

%timeit df['A'] + df['B"] / df['C'] - df['D'] » df['E"]

10 loops, best of .3: 15.9 ms per loop

%timeit pd.eval('df.A + df.B / df.C =udf.D = df.E')

100 loops, best of 3: 8.23 ms per loop

%timeit df.eval('A+ B / C =D = E.)

100 loops, bestof 37 12.9.ms per |oop

df.eval('R=A+B/C-D = E', inplace=True)

df .head()

A
0 0.809568
1 0.271222
2 0.651753
3 0.061394

4 0.615251

B
0.914763
0.670036
0.925138
0.784605

0.195590

C

0.602827

0.400662

0.942498

0.952853

0.981553

D
0.486493
0.525909
0.087579
0.435291

0.741863

df .eval('R=A-B/ C+D * E', inplace=True)

df .head()

E
0.535205
0.161296
0.216714
0.176985

0.096994

R

2.066649

1.858715

1.614353

0.807782

0.742560

IDI,

'E'])



A B C D E R
0 0.809568 0.914763 0.602827 0.486493 0.535205 -0.447513
1 0.271222 0.670036 0.400662 0.525909 0.161296 -1.316270

2 0.651753 0.925138 0.942498 0.087579 0.216714 -0.310848

col_mean = df.mean(1)
df['A'] + col_mean

0 1.293125
1 0.390031
2 1.070559
3 0.349084
4 1.135117

999995 0.796291
999996 1.345668
999997 0.273292
999998 0.872099
999999 1.150862
Length: 1000000, dtype: float64

df .eval ('A + @col_mean")

0 1.293125
1 0.390031
2 1.070559
3 0.349084
4 1.135117

999995 0.796291
999996 1.345668
999997 0.273292
999998 0.872099
999999 1.150862
Length: 1000000, dtype: float64

df[(df.A < 0.5) & (df.B < 0.5) & (df.C > 0.5)]



21

22

30

A

0.378554

0.386906

0.317711

0.318906

0.078570

0.030924

pd.eval ('df[(df.A < 0.5) & (df.B <

21
22
30
31

44

999925
999971
999974
999976

999983

A
0.378554
0.386906
0.317711
0.430064

0.294310

0.175797
0.157704
0.425083
0.248551

0.307258

B
0.318906
0.078570
0.030924
0.165408

0.379110

0.497737
0.092293
0.185591
0.162089

0.271711

124861 rows x 6 columns

C

0.503215

0.912289

0.885734

0.5) & (df.C > 0.5)]")

C
0.503215
0.912289
0.885734
0.743194

0.506650

0.681946
0.994735
0.924796
0.633810

0.863673

D
0.956104

0.227901

0.520469

D
0.956104
0.227901
0.520469
0.724131

0.357761

0.186990
0.982039
0.611062
0.471437

0.060059

df .query('(A < 0.5) -ahd-(B.< 0.5)-"and (C >/0.5).7)

21
22
30
31

44

999925
999971
999974
999976

999983

A
0.378554
0.386906
0.317711
0.430064

0.294310

0.175797
0.157704
0.425083
0.248551

0.307258

B
0.318906
0.078570
0.030924
0.165408

0.379110

0.497737
0.092293
0.185591
0.162089

0.271711

124861 rows x 6 columns

C
0.503215
0.912289
0.885734
0.743194

0.506650

0.681946
0.994735
0.924796
0.633810

0.863673

D
0.956104
0.227901
0.520469
0.724131

0.357761

0.186990
0.982039
0.611062
0.471437

0.060059

E
0.453821

0.963534

0.844921

E
0.453821
0.963534
0.844921
0.252827

0.258580

0.445728
0.014898
0.777083
0.105643

0.422888

E
0.453821
0.963534
0.844921
0.252827

0.258580

0.445728
0.014898
0.777083
0.105643

0.422888

R
0.178717

0.520373

0.722554

R
0.178717
0.520373
0.722554
0.390580

-0.361448

-0.470734
0.079552
0.699247
0.042617

0.018057

R
0.178717
0.520373
0.722554
0.390580

-0.361448

-0.470734
0.079552
0.699247
0.042617

0.018057



col_mean = df['D'].mean()

df [(df.A < col_mean) & (df.B < col_mean)]

16
21
22
24

999975
999976
999980
999983
999988

A
0.206366
0.186270
0.378554
0.386906

0.445190

0.122675
0.248551
0.059664
0.307258

0.457082

B
0.332854
0.420888
0.318906
0.078570

0.267078

0.385851
0.162089
0.415475
0.271711

0.009105

249846 rows x 6 columns

C
0.452255
0.122973
0.503215
0.912289

0.088809

0.231283
0.633810
0.017191
0.863673

0.082372

df .query('A < @col_mean~and B*< @col_mean')

16
21
22
24

999975
999976
999980
999983
999988

A
0.206366
0.186270
0.378554
0.386906

0.445190

0.122675
0.248551
0.059664
0.307258

0.457082

B
0.332854
0.420888
0.318906
0.078570

0.267078

0.385851
0.162089
0.415475
0.271711

0.009105

249846 rows x 6 columns

2
=

~ HOlH

8

ot

C
0.452255
0.122973
0.503215
0.912289

0.088809

0.231283
0.633810
0.017191
0.863673

0.082372

D
0.587352
0.805942
0.956104
0.227901

0.940300

0.880432
0.471437
0.681780
0.060059

0.001740

D
0.587352
0.805942
0.956104
0.227901

0.940300

0.880432
0.471437
0.681780
0.060059

0.001740

E
0.250940
0.109413
0.453821
0.963534

0.577578

0.064430
0.105643
0.874583
0.422888

0.118373

E
0.250940
0.109413
0.453821
0.963534

0.577578

0.064430
0.105643
0.874583
0.422888

0.118373

R
-0.382231
-3.148163

0.178717
0.520373

-2.019055

-1.488905
0.042617
-23.512904
0.018057

0.346750

R
-0.382231
-3.148163

0.178717
0.520373

-2.019055

-1.488905
0.042617
-23.512904
0.018057

0.346750



v Concat() / Append()

sl = pd.Series(['a', 'b'], index=[1, 2])
s2 = pd.Series(['c', 'd'], index=[3, 4])
pd.concat([s1, s2])

o O T ®

1
2
3
4
dtype: object

def create_df(cols, idx):
data = {c: [str(c.lower()) + str(i) for i in idx] for ¢ in cols}
return pd.DataFrame(data, idx)

df1 = create_df('AB', [1, 2])

+» > syanlab
oz - waste.n0Q O ZHIXES O LA\
suan computer laboratory

3 a3 b3

4 a4 b4

pd.concat ([df1, df2])

A B
1 a1l b1
2 a2 b2
3 a3 b3
4 a4 b4

df3 = create_df('AB', [0, 1])
df3



A B

0 a0 boO

df4 = create_df('CcD', [0, 1])
df4

0 cO do

1 ¢c1 1

pd.concat ([df3, df4])

A B C D
0 a0 b0 NaN NaN
1 al b1 NaN NaN
0 NaN

1 NaN

suanlab

0 a0 b0 c0 dl¢lo—l- ;-IEE:l q?-l-
« v Slan computer l[aboratory

pd.concat ([df3,

pd.concat ([df1, df3])

A B
1 a1 b1
2 a2 b2
0 a0 boO

1 a1 b1

#pd.concat ([df1, df3], verify_integrity=True)



ValueError Traceback (most recent call last)
<ipython-input-239-09c85839a3e0> in <module>()
----> 1 pd.concat([dfl, df3], verify_ integrity=True)

A
+ O frames

/usr/local/lib/python3.6/dist-packages/pandas/core/reshape/concat.py in
_maybe_check_integrity(self, concat_index)

580 raise ValueError(
581 "Indexes have overlapping values: "
--> 582 "{overlap!s}".format(overlap=overlap)

pd.concat ([df1, df3], ignore_index=True)

pd.concat ([df1, df3], keys=["X', 'Y'])

df5 = create_df('ABC', [1, 2])
df6 = create_df('BCD', [3, 4])
pd.concat ([df5, df6])

1 al b1 c¢1 NaN
2 a2 b2 c2 NaN
3 NaN b3 c3 d3

4 NaN b4 c4 d4

pd.concat ([df5, df6], join='inner')



b1 ¢1

1

N

df5.append(df6)

al b1 c¢1 NaN

1

a2 b2 c2 NaN

2

d3

3 NaN b3 c3

d4

4 NaN b4 c4
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pd.DataFrame({"

df1

df1

or

=0

Jor

oo

Jof
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HE
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md

KO

N

ol

df2 = pd.DataFrame({"

: [2012, 2016, 2019, 20201})

df2

Jor

2012

1o
fofo

2016

2019

K0
N
ol

X

2020

=<
oF

~NO

df3 = pd.merge(df1, df2)

df3



or

=20
jor

2012

t

=
80

RO

[=13
=l

1Ho
oo

2016

df4 = pd.DataFrame({'&t

o
K0

df4

ol
10

pd.merge(df3, df4)

%0
jor

10|

2012 &

t

]
ol
B0

RO

b

1o
olo

b

KO
od

2019

df5 = pd.DataFrame({C

M
I
Toj

A

30
OH

dfb

or
Il

or

2w

=]

or

Ll

HE

-

md

[3¢)

pd.merge(dfi, df5)



or
]

or

=20
jor

fojo

f=

pd.merge(df1, df2, on='&4

or

20
jor

2012

t

=
ol

b

RO

Lo
oo

2016

Al_i

2019

2020

=21
(s .

df6 = pd.DataFrame({'0l

dfé

Lo
oo

A+

Al_i

KO

ol

A+

oF

~O

)

=20
o

_on="0]

M right

—n é_!.

left_on

pd.merge(df1, dfeé,

or

=0
jor

()

or

HE

-

md

P

~N

ol

axis=1)

’

).drop("0|E

right_on="0|&"

1 §||.¢DH 1

left_on

pd.merge(df1, dfe,



M

Skl

SHAH

df1.set_index(

't

mdf 1

)

= |
S

(

mdf2 = df2.set_index

mdf 1

jor

=0
jor

=
for
80
¢

o
|

iofo

mdf2

il
e

Jor
ol

=0
jor

2012

iHo
oo

2049

KO
<r
ol

2020

=
ok

right_index=True)

_index=True,

left

mdf2,

pd.merge(mdf1,

m
or
ol

jor

=0
jor

2012

f

=

80
RO

[=13
=1

o
Nl

fofo

2016

2019

2020

f

mdf1.join(mdf2)



|
jor
ol

jor

=0
jor

)

=08

_index=True, right_on

left

dfe,

pd.merge(mdf1,

or

0
T

N

ol

1or

Ll

HE

-

md
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=

df7 = pd.DataFrame({'0l

df7

oln
o
K-

0| &

IR}

<H

=1
[==]

df8 = pd.DataFrame({/0|

df8

oln
ok
KI-

0f

T

o
fofo

AFO|Ct

<d

Ol

741

pd.merge(df7, df8)

ojo
i[7]
K-

olm
1] 7]
K-

0|5

“inner')

pd.merge(df7, df8, how



‘outer ')

pd.merge(df7, df8, how

ol
i[7]
K-

oln
1]
K-

of

EL

&l E A

LHo
I

oo

o

AtO|Cf
NaN

I R}

71

NaN

oF

~O

pd.merge(df7, df8, how='left")

oo
i[7]
K-

olm
1] 7]
K-

0| &

NaN
'right")

pd.merge(df7, df8, how

oo
ok
K

ol
[
K-

0| =

=ct

2 7

Lo
!

ol

AFQIEE
7]

I At
NaN

df9 = pd.DataFrame({'0l

df9

ol
<K

0| &

lHo
fofo

oF

~O

RO

=1
[m==]

df10 = pd.DataFrame({'0l

df10



°
][
Ay
o

0 =225 4
1 Ol&4l 1

>
0

o
T

N - o

e S ot

I C P =]

ox = ol
H>

SN N w I><
H
(¢}

w - » k

w
oN
=o)
r>
N

pd.merge(df9, df10, on='0l5"', suffixes=["_QIJ|", "_&&"])
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v A A LH(Aggregation)

A

=
A

N

count

head, tail
descr ibe

min, max
cummin, cummax
argmin, argmax
idxmin, idxmax
mean, median
std, var

skew

kurt

mad

sum, cumsum

prod, cumprod

=
Series, DataFrame?2| 2f Z 20 Ciot 29 4|

x| gk, x|t gk

e
ke - SO SIS £

E| gkt X[ gLl Aol K|
E| gkt X T gLl Al g
o, s

Ol = (skewness) &t Al 4t
M = (kurtosis) 4t Al At
A - ™K} (Mean Absolute Deviation)

HA oe g



24 29

quantile 0FE 17HX| 2] &%= At
diff 1RE L= XE A
pct_change HUE Hals ALt

corr, cov A, S 24 A A

df = pd.DataFrame([[1, 1.2, np.nan],
[2.4, 5.5, 4.2],
[np.nan, np.nan, np.nan],
[0.44, -3.1, -4.111,
index=[1, 2, 3, 4],
columns=['A", 'B', 'C'])
df

A B C
1 1.00 1.2 NaN

240 55 42

NaN NaN

A WD

0.44 -31

> rsuanlab

1 10 1.2 Q\ll¢?_* ;n-l-lgrE-1 g;—é
2 24 55 gglan computer laboratory

df .tail(2)

A B C
3 NaN NaN NaN

4 044 -31 -4A1

df .describe()



A B C
count 3.000000 3.00 2.000000

mean 1.280000 1.20 0.050000

print(df)
print(np.argmin(df), np.argmax(df))

A B C
1.00 1.2 NaN
2.40 5.5 4.2

NaN NaN NaN
0.44 -3.1 41
2

max  2.400000 5.50  4.20U00U
print(df)

print(df.idxmin())
print(df.idxmax())

N~ wWwnNd —

A B C
1 1.00 1.2 NaN
2 2.40 55 4.2
3 NaN NaN NaN
4 0.44 -3.1 41
A 4
B 4
C 4
dtype: int64
A 2
B 2
C 2
dtype: int64

print(df)

print(df.std())
print(df.var())

A B C
1.00 1.2 NaN
2.40 5.5 4.2
NaN NaN NaN
0.44 -3.1 -4 1
1.009554
4.300000
5.868986
type: float64
1.0192
18.4900
34.4450
type: float64

OCOWMITIOODMITNAWN —

print(df)
print(df.skew())
print(df.kurt())

A B C



1.00 1.2 NaN
2.40 5.5 4.2
NaN NaN NaN
0.44 -3.1 41
1.15207
0.00000
NaN
type: float64
NaN
NaN
NaN
type: float64

O O™M>T>O O™ WN —

print(df)
print(df.sum())
print(df.cumsum())

A B C
1 1.00 1.2 NaN
2 2.40 55 4.2
3 NaN NaN NaN
4 0.44 -3.1 41
A 3.84

B 3.60

C 0.10

d

uTavrsuanlab

1 1.0

2 3.40 6.7 4.2
3 NaN NaN NaN
4

™ 7 Blseot ZAEE Ha
D miarereay SUAN cOMputer [aboratory

print(df.cumprod())

p=g
(@]

O O

~ =

A B C
1 1.00 1.2 NaN
2 2.40 55 4.2
3 NaN NaN NaN
4 0.44 -3.1 41
A 1.056
B -20.460
cC -17.220
dtype: float64

A B C
1 1.000 1.20 NaN
2 2.400 6.60 4.20
3 NaN NaN NaN
4 1.056 -20.46 -17.22



A B C
1 NaN NaN NaN
2 14 4.3 NaN

df .quantile()

A 1.00
B 1.20
C 0.05
Name: 0.5, dtype: float64

df .pct_change()

A B C
1 NaN NaN NaN
2 1.400000 3.583333 NaN

3 0.000000 0.000000 0.00000

4 -0.816667 -1.563636 -1.97619

df.corr ()

A B C
A 1.000000 [ 0.970725+1.0
B 0.970725 1.000000 1.0

C 1.000000 ~1.600000" 1.0

df .corrwith(df.B)

A 0.970725
B 1.000000
C 1.000000
dtype: float64

df.cov()

A B C
A 10192 4214 8.134
B 4.2140 18.490 35.690

C 8.1340 35.690 34.445

df['B'].unique()

array([ 1.2, 5.5, nan, -3.1])



df['A'].value_counts()
0.44 1
2.40

1.00
Name: A, dtype:

v GroupBy &4t

df = pd.DataFrame({'c1

int64

e,

a,

Ibl’

I02I:[IAI’ IBIy IBI’ I

'c3':np.random.randint
'c4' :np.random.random(

df
cl c2 c3
0 a A 3
1 a B 3
2 b B 3
3 b A 3
4 ¢ D 3
5 d C 8
6 b C 3
df .dtypes
c1 object
c2 object
c3 inté4
c4 float64

dtype: object

c4
0.082461
0.560924
0.005640
0.207320
0:841396
0.098452

0.965033

df['c3'].groupby(df['c1']).mean()

1

wW W ww

C
a
b
C
d
N

ame: ¢3, dtype:

int64

df['c4'].groupby(df['c2']).std()

c?
A 0.088288
B 0.392645

b
A
(
7

|
’

7
)

)
)

’

)



C 0.612765
D NaN
Name: c4, dtype: float64

df['c4'].groupby([df['c1'], df['c2']]).mean()

no

cl
a 0.082461
0.560924
0.207320
0.005640
0.965033
c 0.841396
d 0.098452

Name: c4, dtype: float64

b

OO O ™>>Q0

df['c4'].groupby([df['c1'], df['c2']]).mean().unstack()

c2 A B C D
cl

a 0.082461 0.560924 NaN NaN
b 0.207320 0.005640 0.965033 NaN
c NaN NaN NaN = 0.841396
d NaN NaN+ 0.098452 NaN

df .groupby('c1').mean()

c3 c4
cl
a 3 0.321692
b 3 0.392664
c 3 0.841396

d 3 0.098452

df .groupby(['c1', 'c2']).mean()



c3 c4
cl c2

a A 3 0.082461

df .groupby(['c1', 'c2']).size()

N

c1

c
d
dtype: int

(o
OO O ®™>>Q0

O) — —

4

for c¢1, group in df.groupby('c1'):
print(ci)
print(group)

cl c2 ¢3 c4
0 a A 3 0.082461
1 a B 3 0.560924
b

cl c2 ¢3 c4
2 b B 3 0.005640
3 b A 3 04207320
6 b C 3 0.965033
o

cl c2 ¢3 c4

4 ¢ D 3 0.8413%
d

2 ¢3 c4
C 3 0.098452

(@)
o 4

for (c1, ¢2), group in df.groupby(['c1', 'c2']):
print((ct, c2))
print(group)

1 ¢c2 ¢3 c4
a A 3 0.082461

1 ¢c2 ¢3 c4
1 a B 3 0.560924

1 ¢c2 ¢3 c4
b A 3 0.20732

1 ¢c2 ¢3 c4
b B 3 0.00564

c4
0.965033



cl c2 c3 c4
4 ¢ D 3 0.84139%
('d', 'C")

cl c2 ¢3 c4
5 d C 3 0.098452

df .groupby(['ct', 'c2'])[['c4"']].mean()

c4

cl c2
a A 0.082461
B 0.560924
b A 0.207320
B 0.005640
C 0.965033
c D 0.841396

d C 0.098452

E}’ suanlab
cl

O|Z:OF HILE{ 1A
ne: <3 g |k computer l[aboratory

df .groupby('c1')['c3'].count()

COCAJCA)CA)
OOOO

a
b
c
d
N

c1
a 2
b 3
c 1
d 1
Name: c3, dtype: int64

df .groupby('c1')['c4'].median()

cl

a 0.321692
b 0.207320
c 0.841396
d 0.098452

Name: c4, dtype: float64

df .groupby('c1')['c4'].std()

c1



a 0.338324
b 0.505839
c NaN
d NaN
N

ame: c4, dtype: float64

df .groupby(['ct', 'c2'])['c4'].agg([ 'mean"',

mean

cl c2

a A 0.082461
B 0.560924

b A 0.207320
B 0.005640
C 0.965033

c D 0.841396

d C 0.098452

min

0.082461

0.560924

0.207320

0.005640

0.965033

0.841396

0.098452

max

0.082461
0.560924
0.207320
0.005640
0.965033
0.841396

0.098452

‘min

, 'max'])

df .groupby(['c1', 'c2'], asrindex=False)['c4'].mean()

cl c2 c4
0 a A 0.0824:61
1 a B 0.560924
2 b A 0:207320
3 b B 0.005640
4 b C 0.965033
5 ¢ D 0.841396
6 d C 0.098452

df .groupby(['c1', 'c2'], group_keys=False)['c4'].mean()

N

cl
0.082461
0.560924
0.207320
0.005640
0.965033
0.841396
0.098452

C
d

(ox
OO O ™>>Q0

Name: c4, dtype: float64

def top(df, n=3, column='c1'):
return df.sort_values(by=column)[-n:]



top(df, n=5)

cl c2 c3 c4
2 b B 3 0.005640
3 b A 3 0.207320
6 b C 3 0.965033
4 ¢ D 3 0.841396
5 d C 3 0.098452

df .groupby('c1").apply(top)

cl c2 c3 c4

cl
a 0 a A 3 0.082461
1 a B 3 0.560924
b 2 b B "3 0.005640
3 b A 30207320
6 b C 8..0.965033
c 4 ¢ D~ 8 0841396
d 5 d C 3 0.098452

2N A4
values YAt = ZHO|E ZE2 0|59 2[AE. 7| 2HO 2 B E Xt ZE A
index I ZHo|E0|Lt OE 7|

|
columns |
|

aggfunc A gLt ot 2[AE 7| 22U4CE mean Of AHE
fill_value Z3fHO[Z0|M ==E 2t CHKIE 2 4k

dropna True?! 22 ZE FF0|NAQ ZH2 XL

margins SEE2YO|L BAE HY| /s 2/2EH 37

df .pivot_table(['c3', 'c4'],
index=['c1'],
columns=['c2'])

2oLt 18 7|



c3

c2 A B C D

cl

a 3.0 3.0 NaN NaN 0.082461

df .pivot_table(['c3', 'c4'],
index=['c1'],
columns=['c2'],
margins=True)
c3
c2 A B C D

cl

a 3.0 3.0 NaN NaN
b 3.0 3.0 3.0 NaN
¢ NaN NaN NaN 3.0
d NaN NaN 3.0 NaN

Al 30 30 30 3.0

df .pivot_table(['c3', 'c4'],
index=[Fcl ',
columns=[!'c2'll,
margins=True,
aggfuné=sum)
c3
c2 A B C D
cl
a 3.0 3.0 NaN NaN
b 3.0 3.0 3.0 NaN
c NaN NaN NaN 3.0
d NaN NaN 3.0 NaN

Al 60 60 60 30

df .pivot_table(['c3", 'c4'],
index=['c1'],
columns=['c2'],
margins=True,
aggfunc=sum,
fill_value=0)

ca4

All

3

All

21

ca4

0.082461
0.207320
NaN
NaN

0.144890

c4

0.082461
0.207320
NaN
NaN

0.289781

0.560924

0.560924
0.005640
NaN
NaN

0.283282

0.560924
0.005640
NaN
NaN

0.566564

NaN

NaN
0.965033
NaN
0.098452

0.531742

NaN
0.965033
NaN
0.098452

1.063485

NaN

NaN
NaN
0.841396
NaN

0.841396

NaN
NaN
0.841396
NaN

0.841396

All

0.321692
0.392664
0.841396
0.098452

0.394461

All

0.643385
1.177993
0.841396
0.098452

2.761225



c3

c2 A

cl

c O
d 0

0

3

Al 6 6 6

c4

D All A

0 6 0.082461
0 9 0.207320
3 3 0.000000
0 3 0.000000

3 21 0.289781

pd.crosstab(df.c1, df.c2)

c2 A B CD

cl

0.560924 0.000000 0.000000
0.005640 0.965033 0.000000
0.000000 0.000000 0.841396
0.000000 0.098452 0.000000

0.566564 1.063485 0.841396

pd.crosstab(df.c1, dfte2, values=df.c3,-aggfunc=sum;“margins=True)

=
%-I‘I‘

c2 A
cl

a 3.0
b 3.0
¢ NaN
d NaN
All 6.0

B C D All

3.0 NaN NaN

3.0 3.0 NaN

NaN NaN 3.0

NaN 3.0 NaN

60 6.0 30 21

& (Categorical) G| O|

CL

All

0.643385
1.177993
0.841396
0.098452

2.761225

add_categories
as_ordered
as_unordered

remove_categories

7|Z FtE| 2o =22 7HH| 12|
Fte| 2o =M X E
FtE| 2o =M O]X|°8

FHe 2] HM A

remove_unused_categories AFEQtSh= FHH| 2| K| A

rename_categories

Fte| 2] 0|5 HE

=7t



HAE a4d
reorder_categor ies MEZ2 7t 2|0 =M X7

set_categor ies MER 7IH 122 HY

s =pd.Series(['cl", 'c2', 'c1', 'c2', 'c1'] * 2)
S

0 cl
1 c2
2 cl
3 c2
4 cl
5 cl
6 c?
7 cl
8 c2
9 cl
dtype: object

pd.unique(s)

array(['c1", 'c2'], dtype=object)

— So suaniab

c2
dtype: |nt64 J\O ;—l T
code = pd.Series([0, 1, | ] o !- E:| q;—l—

code suanh c:omputer laboratory

0 0
1 1
2 0
3 1
4 0
5 0
6 1
7 0
8 1
9 0
dtype: int64

d = pd.Series(['cl', 'c2'])
d

0 cl
1 c2
dtype: object

d.take(code)

0 cl



c2
cl
c2
cl
cl
c2
cl
c2
cl

OO - 0O =200 =~ 0O —

type: object

df = pd.DataFrame({'id': np.arange(len(s)),

df

id ¢
0 0 c1
1 1 c2
2 2
3 3 ¢c2
4 4 1
5 5 c1
6 6 c2
7 7
8 8 c2
9 9 ci

c . S,
'v': np.random.randint (1000, 5000, size=len(s))})

Vv
3055
3809
4486
4612

=\ suanlab

B|40t ZBE| A1 A
*$Uan computer laboratory

4398

¢ =df['c'].astype('category")

6]

cl
c?
cl
c2
cl
cl
c2
cl
c?
cl

OO ~NO oMWW — O

Name: c, dtype: category
Categories (2, object): [c1, c2]

c.values

[c1, c2, c1, ¢2, c1, ¢1, c2, c1, ¢c2, cl]
Categories (2, object): [c1, c2]



c.values.categories

Index(['c1', 'c2'], dtype='object')

c.values.codes

array([0, 1, 0, 1, 0, 0, 1, 0, 1, 0], dtype=int8)

df['c'] = ¢
df.c

cl

c2

cl

c2

cl

cl

c2

cl

c2

cl

Name: ¢, dtype: category
Categories (2, objeet)«[c1, c2]

OCOoO~NO Ok~ wnNn — O

¢ = pd.Categorical(['cl1"', 'c2',/'c3', 'e1', 'c2'])
C

[c1, c2, ¢3, cf, 2]
Categories (3, “ebject)t ct, c2, c3]

categories = ['c1', =2 “~"c3"]

codes = [0, 1, 2, 0, 1]

¢ = pd.Categorical.from_codes(codes, categories)
C

[c1, c2, c3, c1, c2]
Categories (3, object): [c1, ¢2, ¢3]

pd.Categorical.from_codes(codes, categories, ordered=True)

[c1, c2, c3, c1, c2]
Categories (3, object): [c1 < ¢2 < ¢3]

c.as_ordered()

[c1, c2, c3, c1, c2]
Categories (3, object): [c1 < ¢2 < ¢3]

c.codes

array([0, 1, 2, 0, 1], dtype=int8)



c.categories

Index(['c1', 'c2',

c = c.set_categories(['c1',
c.categories
IC2|,

Index(['c1' 'c3',

c.value_counts()

c1
c2
c3
c4
chb
dtype:

OO =N N

int64

clc.isin(['ct", '¢3'])]
[c1, ¢3, c1]
Categories (5, object):

C

c.categories

Index(['c1', 'c2',

% ol

—

'c3'],

IC2|,

'c31],

dtype='object"')
|03|, IC4|, |C5|])

'c4', 'ch'], dtype='object')

[c1, c2, ¢3, c4, c5]

c.remove_unused_categories()

dtype='object ')

. TO|MO| BRI QMKIE 7o BE Y
= k)
capitalize() N EXE WEXZSHL, LIHX| X8 AZXE St 24+ et
casefold() DEHAEX T2 M A
count(sub, [, startl, end]]) [start, end] HOM 2 EALE subl| FEE|X| R =5 dtst
find(sub [, start [, end]]) [start, end]0| M 2 EXHY subZt EXHE Q| 74E 22 QA S Hist subZt YA K| Yt
rfind(sub [, start [, end]]) [start, end]0i| M 22 2AHE subZt 2AHEL| 7HE A2 2 QA AE Bt subZt 2 A LK
index(sub [, start [, end]]) find()2F FASHX| 2 22 XS sub?t S12 H ValueError Hd
rindex(sub [, start [, end]]) rfind() 2 FAFSHX| 2t 25 2+ subZt 812 ™ ValueError &
isalnum() A Eel HE ZA7F BXAtE 171 Ol A2 T True, OtL| H False Hhet
isalpha() Ao 2 E EXH7L HEXLE 174 04 A2 H True, OfL|H False Etet
isdecimal () Ao 2 E 2XH7H10%a 2X10[H 171 O] & U2 W True, 1T HX| 22X False Htet



ot
+

CL:

isdigit()

isnumer ic()

isidentifier()

isspace()

istitle()

islower ()

isupper ()

join(iterable)

center (width [, fillchar])
ljust(width [, fillchar])
rjust(width [, fillchar])
lower ()

upper ()

title()

swapcase()

strip([chars])
Istrip([chars])
rstrip([chars])
partition(sep)
rpartition(sep)

replace(old, new[,count])
split(sep=None, maxsp!it=1)
rsplit(sep=None, maxsplit=1)
splitlines([keepends])
startswith(prefix [, start[,“end]])
endswith(suffix [, start[, end]])

zfill(width)

name_tuple = ['Suan Lee', 'Steven Jobs', 'Larry Page', 'Elon Musk', None, 'Bill Gates'

names = pd.Series(name_tuple)
names

0 Suan Lee
1 Steven Jobs
2 Larry Page
3 Elon Musk
4 None
5 Bill Gates
6 Mark Zuckerberg
7 Jeff Bezos
dtype: object

names.str. lower ()

0 suan lee
1 steven jobs

TALES| BE AL = AHO|H 17 O] & RS W True, 1ZX| B2 False Bt
ZAEL BE ZAt7F =X[HO0|H 17 Ol AS W True, TEX| R 2T False
TALEO0| Fmeh A EXQl F2 True Bt
= A Lol S ZAt7F AL, 2AE7E17 0] A2 T True, AHX| O H
ZALE0| M=0| A= 2A L0 X771 Ol e A2 True, AHX| RE2H
ZAEe BE ZA7F 2ZAH0|H 174 O] AS W True, 1EX| R 2T False
ZAE el A7t R CHEXO| E A7 171 Ol ek A2 True, X

o

Hoj2tEel A0 215 §3E 2AE S Hhet

HOo|ZFo| ZAE0M RLER YEE ZAE S Bt

B2E HAEAZ A2 BetE EXE S dhet

=AM ZE 2AHE A2 Heto XS S ghet
ZAEOM A S A2 i E A0 L K| = 22 At ZAHE et
ZALE0M AZAE LHEALZ EAE 22 A2 Heto XS Bhet
EAHE LZ0f| XIGE chars £ S ®AsH 2XE 2 ghet
EXHE 2Z0f| XY El chars £ S X713t 2XtL S dist
2 2 2Z0]| X|YE chars F= 39S HAHT AL S gt
AL 0lA HE T sepE 7| T2 F SOt 2| FES Hret
T RSO M OFX|Tf sepE 7|12 2 = k0] 372l RE& et
EXtEo| B E oldE new2 W N$H EXE S Bhet

seps T=A BAIE = AL8TI0] AT THof £ 2 Hiet
sepS T A TAIE = A0 24t E O T SES.Hhet

ZALEO|A] 2ol Tt 2 L2510 2|AEE HiSh
[start end] H20IA X[H St prefix 2-A| =St M True; Ot L| B False Hhst
[start, end] 20| A X|™H 3t suffix2 ELFH True, OFL| H False Htzt

LH| ZHEo| 2XE0A B0 A= F=01| ‘00 M AT ZALE Hhat

=

’

fot

r

Hts}

[

False

False

Hhs}

tO ™ False

‘Mark Zucke



2 larry page
3 elon musk
4 None
5 bill gates
6 mark zuckerberg
7 jeff bezos
dtype: object

names.str.len()

0 8.0
1 11.0
2 10.0
3 9.0
4 NaN
5 10.0
6 15.0
7 10.0
dtype: float64

names.str.split()

0 [Suan, Lee]
1 [Steven, rdobs]
2 [Larry, Pagel
3 [Elon, Musk]
4 None
5 [Bill, Gates]
6 [Mark, Zuckerberg]
7 [Jef frBezos]
dtype: object

v 7|Ef LA

HAE ck
get() Zt 240 QIEA X7
slice() Zt Q40 s2t0|A Mg
slice_replace() 2 Q20| L2l0|AE EH IO 2 CiA
cat() =AtE A
repeat () s
normalize() Ao FLIZE HENZ Higt
pad() ZXE F, QER E= UX M £t
wrap() I EXEES FOIT HHECH B2 Z0[2 0|2 E& L=
join() Series| 2} @40 A= EXES MHE FEXAYt 2
get_dummies() DataFrame2 2 7t =(dummy variable) &=

names.str[0:4]

0 Suan
1 Stev
2 Larr
3 Elon
4 None



v

5 Bill
6 Mark
7 Jeff
dtype: object

names.str.split().str.get(-1)

0 Lee
1 Jobs
2 Page
3 Musk
4 None
5 Gates
6 Zuckerberg
7 Bezos
dtype: object

names.str.repeat(2)

0
1
2
3
4
5
6
7
d

Suan LeeSuan Lee

Steven JobsSteven Jobs

Larry Pagelarry Page

Elon MuskElon Musk

None

Bill GatesBill Gates

Mark ZuckerbergMark.Zuckerberg
Jeff BezosJeff Bezos

type: object

names.str.join('x")

SxUsa*nx. xLxexe
Sxi*exyxe*n* *xJx0*p*S

0
1
2
3
4
5
6
7
d

type: object

Lxa*r*rxy* xPxgxg*e
Exxoxn* *M*uxs*k

None

Bxix|*|x *Graxtxexs
Mxaxrxk* *xZ#xUxCxK*exr *hxe*r*Q
Jrexfxfx *Bxgxzx0*s

AT EA
HAE 29
match() Zt QA0 re.mateh() SE. 22| 2k gt
extract() 2 220 re.match() 2E. EAEE IfAE O& gzl
findall()  ZF Q20 re.findall() B&.
replace() I EHO| LSt XS CHE XS E CHA|
contains() 2t QA0 re.search() =, 22| 7t Bzt
count () i 2 A T

split()

rsplit()

=]
strosplit() Of S LR 2 7 BSHA AL

str.rsplit() ot SYSHX| 2 FH HHA] AL



names.str.match('([A-Za-z]+)")

0 True
1 True
2 True
3 True
4 None
5 True
6 True
7 True
dtype: object

names.str.findall('([A-Za-z]+)")

0 [Suan, Lee]
1 [Steven, Jobs]
2 [Larry, Page]
3 [Elon, Musk]
4 None
5 [Bill, Gates]
6 [Mark, Zuckerberg]
7 [Jeff, Bezos]
dtype: object

v AAE A

idx = pd.Datetimelndex([.'2019-01-01", '2020-01-01', '2020-02-Q1', '2020-02-02', '2020-03-01'])
s = pd.Series([0, 1[2, 8«4 index=id%)
s

2019-01-01
2020-01-01
2020-02-01
2020-02-02
2020-03-01
dtype: int64

MO 2O

s['2020-01-01":]

2020-01-01
2020-02-01
2020-02-02
2020-03-01
dtype: int64

Moo —

s[:'2020-01-01"]

2019-01-01
2020-01-01
dtype: int64

— O

s['2019"']



2019-01-01 0
dtype: int64

v AAE HOIH =

EQ A EH I (timestamp) 7| Zt(time period) AlZHHEL EE X5 7|2

Pandas Timestamp Et®! XS Pandas Period EtQ A&  Pandas®| Timedelta EtR XS
TO|*M datetime CHA| EFY T}O|M datetime.timedelta CHA| EF
numpy .datetime64 EFQ 7|8t numpy.datetime64 EFR! Z18F  numpy.timedelta6s EFRI 7|EE

Datetimelndex PIFA FAZT Periodindex QA X Timedeltalndex QIEA &

from datetime import datetime
dates = pd.to_datetime(['12-12-2019', datetime(2020, 1, 1), '2nd of Feb, 2020', '2020-Mar-4', '202(
dates

Datetimelndex(['2019-12-12"', '2020-01-01', '2020-02-02', '2020-03-04',
'2020-07-01'1,
dtype='datetime64[ns]', freg=None)

dates.to_period('D")

Periodlindex(['2019-12-12"', '2020-01-01', '2020-02-02','2020-03=04",
'2020-07=01. 1],
dtype='period[D]', freg='D!)

dates - dates[0]

Timedeltalndex(['0O"days', '"20=days's='52"days', '83 days*, '202 days'], dtype='timedeltab4[n
SULIANN cOIarirn Her 1 anorAaionry/ »

pd.date_range('2020-01-01", '2020-07-01")

Datetimelndex(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-04"',
'2020-01-05", '2020-01-06"', '2020-01-07', '2020-01-08",
'2020-01-09", '2020-01-10",

'2020-06-22', '2020-06-23', '2020-06-24', '2020-06-25',
'2020-06-26', '2020-06-27', '2020-06-28', '2020-06-29',
'2020-06-30"', '2020-07-01'1,

dtype='datetime64[ns]', length=183, freg='D")

pd.date_range('2020-01-01", periods=7)
Datetimelndex(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-04"',
'2020-01-05"', '2020-01-06', '2020-01-07'],
dtype='datetime64[ns]', freg='D")
pd.date_range('2020-01-01", periods=7, freg='M")
Datetimelndex(['2020-01-31", '2020-02-29', '2020-03-31', '2020-04-30',

'2020-05-31", '2020-06-30', '2020-07-31'],
dtype='datetime64[ns]', fregq="'M")



pd.date_range('2020-01-01', periods=7, freg='H'")

Datetimelndex(['2020-01-01 00:00:00", '2020-01-01 01:00:00",
'2020-01-01 02:00:00", '2020-01-01 03:00:00",
'2020-01-01 04:00:00", '2020-01-01 05:00:00",
'2020-01-01 06:00:00'],
dtype='datetime64[ns]', freg="H")

idx = pd.to_datetime(['2020-01-01 12:00:00', '2020-01-02 00:00:00'] + [None])
idx

Datetimelndex(['2020-01-01 12:00:00', '2020-01-02 00:00:00', 'NaT'], dtype='datetime64[ns]',

>
idx[2]

NaT

pd.isnull(idx)

array([False, False,Trtel])

ANAE 7=

dates = [datetime(2020, 1;=d)sdatetime(2020,-1,-2), datetime(2020s"1v" 4)y datetime(2020, 1, 7),
datetime(2020, 1, 10), datetime(2020,” 1, 11), "datetime(2020, 1, 15)]
dates

[datetime.datetime(2020, 1
datetime.datetime(2020, 1
datetime.datetime(2020, 1
datetime.datetime(2020, 1,
datetime.datetime(2020, 1
datetime.datetime(2020, 1
datetime.datetime(2020, 1

ts = pd.Series(np.random.randn(7), index=dates)
ts

2020-01-01 0.828153
2020-01-02 0.668588
2020-01-04 0.075077
2020-01-07 0.459817
2020-01-10  —1.729824
2020-01-11  -0.403687
2020-01-15 2.096749
dtype: float64

ts. index



Datetimelndex(['2020-01-01", '2020-01-02",

ts.index[0]

'2020-01-10", '2020-01-11",

'2020-01-04 ",
'2020-01-15"],

dtype='datetime64[ns]', freg=None)

Timestamp('2020-01-01 00:00:00")

tslts.index[2]]

0.07507698686343409

ts['20200104 ']

0.07507698686343409

ts['1/4/2020"]

0.07507698686343409

ts = pd.Series(np.random:randn(1000),

ts

index=pd.date_range('2017-10-01",

2020-06-22
2020-06-23
2020-06-24
2020-06-25
2020-06-26

Freg: D, Length:

ts['2020"]

2020-01-01
2020-01-02
2020-01-03
2020-01-04
2020-01-05

2020-06-22
2020-06-23
2020-06-24
2020-06-25
2020-06-26

Freqg: D, Length:

ts['2020-06"]

0.

420342
. 770328
674475
+026037
. 136982
014287
.254001
. 124229
.412706
. 196948
1000, dtype: float64

197849
.077263
.505628
.524031
.655873
.014287
.254001
. 124229
412706
. 196948
178, dtype: float64

per iods=1000) )

'2020-01-07",



2020-06-01  -0.493871
2020-06-02 0.735484
2020-06-03  -0.314472
2020-06-04 -1.768392
2020-06-05 0.325760
2020-06-06 0.781031
2020-06-07 1.006581
2020-06-08 1.483781
2020-06-09 0.667332
2020-06-10  -0.512309
2020-06-11 0.378903
2020-06-12  -2.377225
2020-06-13  -1.686634
2020-06-14  -1.699558
2020-06-15  -0.149238
2020-06-16  -0.265368
2020-06-17  -0.028276
2020-06-18 3.959999
2020-06-19 2.236131
2020-06-20 0.252964
2020-06-21 0.293082
2020-06-22  -1.014287
2020-06-23 0.254001
2020-06-24  -1.124229
2020-06-25 -1.412706
2020-06-26 2.196948

Freg: D, dtype:

float64

ts[datetime(2020, 6, 20):]

2020-06-20 0.252964
2020-06-21 0.293082
2020-06-22  -1.014287
2020-06-23 02254001
2020-06-24  —1.124229
2020-06-25  -1.412706
2020-06-26 2.196948

Freq: D, dtype: float64

ts['2020-06-10": '2020-06-20" ]

2020-06-10  -0.512309
2020-06-11 0.378903
2020-06-12  -2.377225
2020-06-13  —1.686634
2020-06-14  —-1.699558
2020-06-15  -0.149238
2020-06-16  -0.265368
2020-06-17  -0.028276
2020-06-18 3.959999
2020-06-19 2.236131
2020-06-20 0.252964

Freqg: D, dtype:

float64

tdf = pd.DataFrame(np.random.randn(1000, 4),
index=pd.date_range('2017-10-01",
ColumnS:[lAl’ IBIy ICI’ IDI])

per iods=1000),



tdf

A B C D
2017-10-01  1.609879 -1.136145 0.643200 0.227646
2017-10-02 -1.885087 -0.269613 2.125796 -1.386158
2017-10-03 -1.061120 0.748388 -1.964428 1.343831
2017-10-04 0.088057 -0.295152 0.159467 0.525364

2017-10-05 -0.763533 -1.066217 -1.579313 0.010115

2020-06-22 -0.173846 1.029804 1.236924 -0.329191
2020-06-23 -1.102508 -0.128789 0.675384 1.341087
2020-06-24 0.390441 -0.247763 0.294704 0.811862
2020-06-25 1.045906 1.897151 0.214847 -0.322413
2020-06-26 -1.311100 -0.379670 -0.407460 1.644619

1000 rows x 4 columns

tdf['2020"]

A B C D
2020-01-01 -0.403012 *~0.641469. -0.120983 ==0.577990
2020-01-02 0.100218 -0.513692 -1.325447 -0.553030
2020-01-03 0:400035 "-0:221343 '/-0.293143" 0:173345
2020-01-04 -0.586777 0.025463 0.441146  1.464452

2020-01-05 -0.072576 1.324623 -1.295825 -0.729552

2020-06-22 -0.173846 1.029804 1.236924 -0.329191
2020-06-23 -1.102508 -0.128789 0.675384 1.341087
2020-06-24 0.390441 -0.247763 0.294704 0.811862
2020-06-25 1.045906 1.897151 0.214847 -0.322413
2020-06-26 -1.311100 -0.379670 -0.407460 1.644619

178 rows x 4 columns

tdf. loc['2020-06"]



A B C D
2020-06-01 -0.338590 1.051900 1.157340 0.413740
2020-06-02 1.318181 -0.389031 -0.223880 -1.750814
2020-06-03 -0.755378 0.650233 0.120089 0.329027
2020-06-04 1.263764 -0.704872 0.634886 -0.623752
2020-06-05 1.758623 0.055859 0.242151 1.570657
2020-06-06 -0.029935 2.195807 1.199621 1.355318
2020-06-07 0.350829 0.887965 -0.660216 -0.032210
2020-06-08 0.746787 -0.394732 -1.435143 0.524777
2020-06-09 1.241311 1.619016 -0.382691 -0.411006
2020-06-10 0.040276 -0.382559 -0.720537 1.681073
2020-06-11 -0.616292 -0.742009 -1.265899 -1.255333
2020-06-12 -0.070184 0.346207 -2.034462 -0.621509
2020-06-13 0.043446 -1.254183 0.972193 -1.035266
2020-06-14 1.019597 -0.581715 -2.526763 -0.567033
2020-06-15 0.346268 0.294683 '« 0.340597. 0.493301
2020-06-16 -0.263815 -0.147701 0.499732 -0.878572
2020-06-17 1.763087 " 0.475867+ -0.666925 ~ 1.64 1322
2020-06-18 0.344728 1.919335 -0.419496 -0.608727
2020-06-19 -1.218446 -0.466427 "[-1.197872 -0.236982
2020-06-20 -0.045209 0.778766 0.384635 -0.247412
2020-06-21 -2.073453 -0.559049 1.266168 0.605200
2020-06-22 -0.173846 1.029804 1.236924 -0.329191
2020-06-23 -1.102508 -0.128789 0.675384 1.341087

2020-06-24 0.390441 -0.247763 0.294704 0.811862
tdf['2020-06-20":]



tdf['C']

ts = pd.Series(np.random.randn(10),
index=pd.Datet imelndex(['2020-01-01", '2020-01-01",
'2020-01-05",

ts

ts.index.is_unique

2017-10-01
2017-10-02
2017-10-03
2017-10-04
2017-10-05

2020-06-22
2020-06-23
2020-06-24
2020-06-25
2020-06-26

0.643200
2.125796
-1.964428
0.159467
-1.579313
.236924
.675384
.294704

.214847
—0.407460

OO O —

Freq: D, Name: C, Length: 1000, dtype: float64

2020-01-01
2020-01-01
2020-01-02
2020-01-02
2020-01-03
2020-01-04
2020-01-05
2020-01-05
2020-01-06
2020-01-07

—0.344128
—2.441707
0.710743
-1.085734
1.205633
0.589756
0.009542
—[1.248808
07605886
-0.770594

dtype: float64

False

ts['2020-01-01"]

2020-01-01
2020-01-01

-0.344128
—2.441707

dtype: floatb4

2020-01-01
2020-01-02
2020-01-03
2020-01-04
2020-01-05
2020-01-06
2020-01-07

ts.groupby(level=0).mean()

-1.392917
—0.187495
1.205633
0.589756
-0.619633
0.760588
-0.770594

dtype: floatb4

'2020-01-04 ",

'2020-01-02",
'2020-01-05",

12020-01-02",
'2020-01-06 ",

120z
120z



pd.date_range('2020-01-01", '2020-07-01")

Datetimelndex(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-04"',
'2020-01-05", '2020-01-06', '2020-01-07', '2020-01-08",
'2020-01-09", '2020-01-10",

'2020-06-22', '2020-06-23', '2020-06-24', '2020-06-25'
'2020-06-26', '2020-06-27', '2020-06-28', '2020-06-29'
'2020-06-30"', '2020-07-01'1],

dtype='datetime64[ns]', length=183, freg='D")

pd.date_range(start='2020-01-01", periods=10)

Datetimelndex(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-04"',
'2020-01-05"', '2020-01-06', '2020-01-07', '2020-01-08',
'2020-01-09', '2020-01-10'],
dtype='datetimeb4[ns]', freq='D")

pd.date_range(end="'2020-07-01", periods=10)

Datetimelndex(['2020-06-22', '2020-06-23', '2020-06-24', '2020-06-25',
'2020-06-26"', '2020-06-27', '2020-06-28', '2020-06-29',
'2020-06-30", '2020-07-01'],
dtype="datetime64[ns]', freq='D")

pd.date_range('2020-07-01", '2020-077Z', ‘freo="8)

Datetimelndex(['2020-07-01', '2020-07-02', '2020-07-03',_'2020-07-06",
'2020=07=07" 1,
diype="datet ime64 [ns]™ freq="B%)

ac 2ZM 29
D Day EA Y
B BusinessDay g
W-MON , W-TUE, ... Week ES
WON-MON , WON-2MON , ... WeekOfMonth 2 FXet Y
MS MonthBegin 2 AIEY
BNS BusinessMonthBegin  E Y 7|& & A&
M MonthEnd 2 Opx|ard
Bl BusinessMonthEnd gdgd 71E 2 orx|are
QS-JAN, QS—FEB, ... QuarterBegin =7| AEf
BQS-JAN, BQS-FEB, ... BusinessQuarterBegin YL 7|&= £7| A|Zf
Q-JAN, Q-FEB, ... QuarterEnd =7 ObX| 2}
BO-JAN, BQ-FEB, ... BusinessQuarterEnd @YY 7|= £7| OFX| &t
AS-JAN, AS-FEB, ... YearBegin %
BAS-JAN, BAS-FEB, ...  BusinessYearBegin Y 7= A=



A-JAN, A-FEB, ... YearEnd %=

BA-JAN, BA-FEB, ... BusinessYearEnd Y 7= AT
H Hour AlZt

BH BusinessHour A At

T £ min Minute =

S Second =

L = ms Milli Qlz|x

u Micro ofoj2=2=

N Nano Lt

pd.timedelta_range(0, periods=12, freg="H")

Timedeltalndex(['00:00:00', '01:00:00', '02:00:00', '03:00:00', '04:00:00"',
'05:00:00", '06:00:00', '07:00:00', '08:00:00", '09:00:00",
'10:00:00', '11:00:00'],
dtype='timedeltab4[ns]', freq='H")

pd.timedelta_range(0, periods=60, freg='T")

Timedeltalndex(['00:00:00', '00:01:00', '00:02:00', '00:03:00', '00:04:00"',
'00:05:00", '00:06:00', '00:07:00', '00:08:00', '00:09:00"',
'00:10:00", '00:11:00", '00:12:00", '00:13:00', '00:14:00"',
'00:15:00/, '00:16:00., '00:17:00', '00:18:00', '00:19:00"',
'00:20:00", '00:21:00", '00:22:00', '00:23:00", '00:24:00",
'00:25:00", '00:26:00', '00:27:00', '00:28:00', '00:29:00',
'00:30%00 ", 100:34x00", "00:32:00', 100-33:00", '00:34:00"',
‘00:35100" » '00:36:00" 00+ 3700', 00:838:00",_'00:39:00",
'00:40:00", '00:41:00", '00:42:00', '00:43:00', '00:44:00",
100 #4500 '~ 1005461 00,1, 1'10047-00™y 004800 ,00:49:00",
"00:50:00" ;- "00:51:00" ;" '00+52:00*, "00:53:00", " 00:54:00",
'00:55:00', '00:56:00', '00:57:00', '00:58:00', '00:59:00'],

dtype='timedeltad4[ns]', freg='T")

pd.timedelta_range(0, periods=10, freg='1H30T")

Timedeltalndex(['00:00:00', '01:30:00', '03:00:00', '04:30:00', '06:00:00',
'07:30:00', '09:00:00', '10:30:00', '12:00:00', '13:30:00'],
dtype='timedelta64[ns]', freg='90T")

pd.date_range('2020-01-01", periods=20, freq='B")

Datetimelndex(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-06",
'2020-01-07"', '2020-01-08', '2020-01-09', '2020-01-10",
'2020-01-13"', '2020-01-14', '2020-01-15', '2020-01-16",
'2020-01-17"', '2020-01-20', '2020-01-21', '2020-01-22',
'2020-01-23", '2020-01-24', '2020-01-27', '2020-01-28'],
dtype='datetimeb4[ns]', freq='B")

-0
-0

pd.date_range('2020-01-01', periods=30, freg='2H")

Datetimelndex(['2020-01-01 00:00:00', '2020-01-01 02:00:00"',



pd.date_range('2020-01-01",

~ A|ZE(Shift)

12020-01-01
12020-01-01
12020-01-01
12020-01-01
12020-01-01
'2020-01-02
'2020-01-02
'2020-01-02
'2020-01-02
12020-01-02
12020-01-02
'2020-01-03
'2020-01-03
'2020-01-03

04:00:
08:00:
12:00:
16:00:
20:00:
00:00:
04:00:
08:00:
12:00:
16:00:
20:00:
00:00:
04:00:
08:00:

00",

00",
00",
00",
00",
00",
00",
00",
00",
00",
00",
00",
00",
00",

dtype='datetime64[ns]', freg="2H")

Datetimelndex(['2020-01-01

12020-01-01
12020-01-01
12020-01-01
12020-01-01
'2020-01-01
'2020=01-011
'2020-01-01
12020-01=01
'2020-01-01

00:
00:
00:
00:
00:
00:

00:
00:
00:
00:
00:
00:
00:00:
00:00:
00:00:
00:00+

00",
02",
04",
06",
08",
10,
12',
14,
16/,
18",

periods=20, freg='S")

dtype='datet ime64[ns]", freq="S")

ts = pd.Series(np.random.randn(5),

ts

index=pd.date_range('2020-01-01",

2020-01-01
2020-01-02
2020-01-03
2020-01-06
2020-01-07

Freqg: B, dtype:

ts.shift(1)

2020-01-01
2020-01-02
2020-01-03
2020-01-06
2020-01-07

Freg: B, dtype:

ts.shift(3)

2020-01-01

.502628
.059176
.437863
. 129893
.118184

floatb4

NaN

.502628
.059176
.437863
. 129893

float64

NaN

'2020-01-01 06:
'2020-01-01 10:
'2020-01-01 14:
'2020-01-01 18:
'2020-01-01 22:
'2020-01-02 02:
'2020-01-02 06:
'2020-01-02 10:
'2020-01-02 14:
'2020-01-02 18:
'2020-01-02 22:
'2020-01-03 02:
'2020-01-03 06:
'2020-01-03 10:
H

'2020-01-01 00:
'2020-01-01 00:
'2020-01-01 00:
'2020-01-01 00:
'2020-01-01 00:
'2020-01-01 00:
'2020-01-01 00:
'2020-01-01 00:
12020=01=011-00:
2020-01-01 00:

per iods=5,

00:
00:
00:
00:
00:
00:
00:
00:
00:
00:
00:
00:
00:
00:

00',
00",
00",
00",
00",
00",
00',
00",
00',
00",
00",
00",
00',
00'],

00:
00:
00:
00:
00:
00:
00:
00:
00:
00:

o1',
03',
05",
o7,
09',
1,
13",
15",
17
19'],

freq='B"))



2020-01-02 NaN
2020-01-03 NaN
2020-01-06  —1.502628
2020-01-07  -1.059176

Freq: B, dtype: float64

Freqg: B, dtype: float64

Freq: B, dtype: float64

ts.shift(-2)
2020-01-01  —1.437863
2020-01-02  -1.129893
2020-01-03 -0.118184
2020-01-06 NaN
2020-01-07 NaN

ts.shift(3, freg='B")
2020-01-06  —1.502628
2020-01-07  —1.059176
2020-01-08  —1.437863
2020-01-09  —1.129893
2020-01-10 -0.118184

ts.shift(2, freg='W")
2020-01-12  —1.502628
2020-01-12  —1.059176
2020-01-12  —17437863
2020-01-19  -1.129893
2020-01-19  -0.118184

dtype: float64

- Alztch K2

o =N EZFA|(Coordinated Universal Time, UTC)E 7| =2 2 WO Tl HZ|THE QEAMOZ A
ZtoH A 2|
o M AMAZLC|AIZICH HEE ZOtE2 2 H|O|HH|O|AE 280 20| EH2|Ql pytz AHE

import pytz

pytz.common_t imezones

['Africa/Abidjan', 'Africa/Accra', 'Africa/Addis_Ababa', 'Africa/Algiers', 'Africa/Asmara’,

tz = pytz.timezone('Asia/Seoul ')

dinx = pd.date_range('2020-01-01 09:00', periods=7, freg='B")
ts = pd.Series(np.random.randn(len(dinx)), index=dinx)
ts

2020-01-01 09:00:00  -0.605082



2020-01-02 09:00:00  —0.554809
2020-01-03 09:00:00 0.545710
2020-01-06 09:00:00 0.129023
2020-01-07 09:00:00 0.494613
2020-01-08 09:00:00 0.444270
2020-01-09 09:00:00  -0.040237

Freq: B, dtype: float64

pd.date_range('2020-01-01 09:00', periods=7, freg='B', tz='UTC')

Datetimelndex(['2020-01-01 09:00:00+00:00', '2020-01-02 09:00:00+00:00",

'2020-01-03 09:00:00+00:00",
'2020-01-07 09:00:00+00:00",

'2020-01-06 09:00:00+00:00",
'2020-01-08 09:00:00+00:00",

'2020-01-09 09:00:00+00:00'],

dtype='datetime64[ns, UTC]',

ts_utc = ts.tz_localize('UTC")

ts_utc
2020-01-01 09:00:00+00:00
2020-01-02 09:00:00+00:00

2020-01-03 09:00:00+00:00
2020-01-06 09:00:00+00:00
2020-01-07 09:00:00+00:Q0
2020-01-08 09:00:00+00:00
2020-01-09 09:00:00+00:00
Frea: B, dtype: float64

-0.605082
—0.554809
0.545710
0.129023
0.494613
0.444270
=0:040237

ts_utc. index

Datetimelndex(['2020-01-01'09+00:00+00:00 ",
~2020~011=03,-09+00+00+060:: 00~ ,

72020-01-07-09+00 00300+00-

freqg='B')

'2020-01-02709:00:00+00:00",
'2020-01-06-09-00+00+06:00",
'2020-01=08-09 +00+00+00:00",

'2020-01-09 09:00:00+00:00"],

dtype='datet ime64[ns, UTC]"',

ts_utc.tz_convert('Asia/Seoul ')

2020-01-01 18:00:00+09:00
2020-01-02 18:00:00+09:00
2020-01-03 18:00:00+09:00
2020-01-06 18:00:00+09:00
2020-01-07 18:00:00+09:00
2020-01-08 18:00:00+09:00
2020-01-09 18:00:00+09:00
Freq: B, dtype: float64

2020-01-01 09:00:00+09:00
2020-01-02 09:00:00+09:00
2020-01-03 09:00:00+09:00
2020-01-06 09:00:00+09:00
2020-01-07 09:00:00+09:00
2020-01-08 09:00:00+09:00

-0.605082
—0.554809
0.545710
0.129023
0.494613
0.444270
-0.040237

ts_seoul = ts.tz_localize('Asia/Seoul ')
ts_seoul

-0.605082
—0.554809
0.545710
0.129023
0.494613
0.444270

freqg='B')



2020-01-09 09:00:00+09:00 -0.040237
Freq: B, dtype: float64

ts_seoul .tz _convert('UTC")

2020-01-01 00:00:00+00:00 -0.605082
2020-01-02 00:00:00+00:00  -0.554809
2020-01-03 00:00:00+00:00 0.545710
2020-01-06 00:00:00+00:00 0.129023
2020-01-07 00:00:00+00:00 0.494613
2020-01-08 00:00:00+00:00 0.444270
2020-01-09 00:00:00+00:00 -0.040237
Freq: B, dtype: float64

-0
-0

O O

ts_seoul .tz _convert('Europe/Berlin')

2020-01-01 01:00:00+01:00  -0.605082
2020-01-02 01:00:00+01:00  -0.554809
2020-01-03 01:00:00+01:00 0.545710
2020-01-06 01:00:00+01:00 0.129023
2020-01-07 01:00:00+01:00 0.494613
2020-01-08 01:00:00+01:00 0.444270

2020-01-09 01:00:00+01:00. -0.040237
Freq: B, dtype: float64
ts.index.tz_localize('Amer.ica/New_York")
Datet imelndex( [*2020-04=0109:00:00=05:00"," 12020-01<02-0900:00-05:00 ",
' 2020=01=03 109 :00:00=05 :00-+-'2020-01-06 09+00=00-05:00",
'2020-01-07 "09+00:00=05:00"" '2020-01-08+09:00:00-05:00",

' 2020=01=09,-09:00:00-05:00" ],
dbype='datet'imes4[ns| America/New_ Yorkl]', frég='B.)

stamp = pd.Timestamp('2020-01-01 12:00")
stamp_utc = stamp.tz_localize('UTC")
Stamp_utc

Timestamp('2020-01-01 12:00:00+0000"', tz='UTC")

stamp_utc.value

1577880000000000000

stamp_utc.tz_convert('Asia/Seoul ")

Timestamp('2020-01-01 21:00:00+0900", tz='Asia/Seoul ')

stamp_utc.tz_convert('Asia/Seoul ') .value

1577880000000000000

stamp_ny = pd.Timestamp('2020-01-01 12:00', tz='America/New_York")



stamp_ny

Timestamp('2020-01-01 12:00:00-0500", tz='America/New_York')

stamp_ny.value

1577898000000000000

stamp_utc.tz_convert('Asia/Shanghai')

Timestamp('2020-01-01 20:00:00+0800', tz='Asia/Shanghai')

stamp = pd.Timestamp('2020-01-01 12:00', tz='Asia/Seoul ")
stamp

Timestamp('2020-01-01 12:00:00+0900', tz='Asia/Seoul')

from pandas.tseries.offsets import Hour
stamp + Hour ()

Timestamp('2020-01=01 13:00:00+0900', tz='Asia/Seoul ')

stamp + 3 * Hour ()

Timestamp('2020-01=01 15700:00+0900"', tz='Asia/Seoul ')

ts_utc
2020-01-01 09:00:00+00:00 | $0.605082
2020-01-02 09:00:00+00:00  -0.554809

2020-01-03 09:00:00+00:00 0.545710
2020-01-06 09:00:00+00:00 0.129023
2020-01-07 09:00:00+00:00 0.494613
2020-01-08 09:00:00+00:00 0.444270
2020-01-09 09:00:00+00:00  -0.040237
Freq: B, dtype: float64

ts1 = ts_utc[:5].tz_convert('Europe/Berlin')
ts2 = ts_utc[2:].tz_convert('America/New_York')
ts = ts1 + ts2

ts. index

Datetimelndex(['2020-01-01 09:00:00+00:00"', '2020-01-02 09:00:00+00:00",
'2020-01-03 09:00:00+00:00", '2020-01-06 09:00:00+00:00",
'2020-01-07 09:00:00+00:00", '2020-01-08 09:00:00+00:00",
'2020-01-09 09:00:00+00:00'],
dtype='datetime64[ns, UTC]', freg='B")

NI EAL Il P e fs

—



p = pd.Period(2020, freg='A-JAN")
p

Period('2020', 'A-JAN')
p+ 2

Period('2022', 'A-JAN')
9 = &

Period('2017', 'A-JAN')
pl = pd.Period(2010, fregq='A-JAN")
p2 = pd.Period(2020, freg='A-JAN")
p2 — pl

<10 * YearEnds: month=1>
pr = pd.period_range('2020=01<01', '2020-06-30', freg='M")

pd.Series(np.random.randn(6), index=pr)
2020-01 1.795191
2020-02  —1.805473
2020-03 0.921910
2020-04 0.624512
2020-05 1.180537

2020-06  —-0.742804
Freq: M, dtype: float64

pidx = pd.Periodlndex(['2020-1", '2020-2', '2020-4'], freg='M")
pidx

Periodlindex(['2020-01", '2020-02', '2020-04'], dtype='period[M]', freg='M")

p = pd.Period('2020', freg='A-FEB')
p

Period('2020', 'A-FEB')

p.asfreq('M', how='start")

Period('2019-03", 'M")

p.asfreq('M', how='end")

Period('2020-02', 'M")



p = pd.Period('2020', freg='A-0CT")

p

Period(

'2020', 'A-0OCT')

p.asfreq('M', how='start')

Period('2019-11', 'M")

p.asfreq('M', how='end")

Period('2020-10', 'M")

pd.period_range('2010', '2020",
pd.Series(np.random.randn(len(pr)),

pr =

ts =

ts
2010 0.151803
2011 0.657910
2012 2.358392
2013 0.105678
2014 -0.111647
2015 0.609567
2016 -0.844259
2017 -0.012856
2018  -0.301620
2019 0.086615
2020 0.360138
Freq

ts.asfreq('M'

2009-02 0.151803
2010-02 0.657910
2011-02 2.358392
2012-02 0.105678
2013-02 -0.111647
2014-02 0.609567
2015-02  -0.844259
2016-02  -0.012856
2017-02  -0.301620
2018-02 0.086615
2019-02 0.360138
Freq: M, dtype: float64
ts.asfreq('B', how="end")
2010-01-29 0.151803
2011-01-31 0.657910
2012-01-31 2.358392
2013-01-31 0.105678
2014-01-31  -0.111647
2015-01-30 0.609567
2016-01-29  —0.844259
2017-01-31  -0.012856

© A-JAN, dtype: float64

, how="start~)

freq="A-JAN')

index=pr)



2018-01-31
2019-01-31
2020-01-31

-0.301620
0.086615
0.360138

Freqg: B, dtype: float64

p = pd.Period('2020Q2', freg='Q-JAN')

p

p.asfreq('D",

Period('2020Q2', 'Q-JAN')

'start')

Period('2019-05-01", 'D")

p.asfreq('D', 'end')

pr
ts
ts

pr
ts
ts

Period('2019-07-31", 'D')

pd.period_range('2019Q3"', '2020Q3', freg='Q-JAN')

pd.Series(np.arange(len(pr)),

201903
201904
202001
202002
2020Q3

W — O

4

Freq: Q-JAN, dtype: int64

pd.date_range( '2020-01+01" ;
pd.Series(np.random.randn(5), “index=pr)

2020-01-31
2020-04-30
2020-07-31
2020-10-31
2021-01-31

Freg: Q-JAN,

ts.to_period()

pr
ts
ts

-1.051255
-0.517585
-0.940126
0.482459
-0.652840
dtype: float64

202004 -1.051255
202101 -0.517585
202102  -0.940126
0.482459
202104  -0.652840
Freq: Q-JAN, dtype: float64

2021Q3

pd.date_range('2020-01-01",
pd.Series(np.random.randn(5), index=pr)

index=pr)

peN i0ds=57 1 f reg="Q=JAN™)

periods=5, freg='D")



2020-01-01
2020-01-02
2020-01-03
2020-01-04
2020-01-05

-0.551289
—0.264403
-1.003318

0.601887
-0.203059

Freq: D, dtype: float64

p = ts.to_period('M")

p
2020-01  -0.551289
2020-01  -0.264403
2020-01  -1.003318
2020-01 0.601887
2020-01  -0.203059

Freg: M, dtype: float64

p.to_timestamp(how='start"')

2020-01
2020-01
2020-01
2020-01-01
2020-01-01

—01
—01
—01

-0.551289
-0.264403
-1.003318

0.601887
-0.203059

dtype: float64

- o[ HEE

~N

Resampling)

o 2|ME 2l(Resampling) Al S BIE Biz}
e CI2ME 2 (Down sampling)=& = T|0|EH & StIEI = O H = T A
o AMEZ(Up sampling): St BTz [Cl| O|H & & HF-EI & G| OFH =) 2|
e resample H{AE
QIX} A

freq ZMEY HE

axis 2| MEY & (7128 axis=0)

fill_method YMEZAl EZt =% (None, ffill, bfill)

closed CHeME Al 2 2t40| =3t @IX| (right, left)

label Ct2ME Al YA E ZoF 28 23 (right, left)

lof fset Ltel 50l 2t S 7| flst =M

limit HIES ARSI E7t2 X8 Z[Cf 7|2t

kind 7|Zt(period) = EFJAABHA I (timestamp ) ©A T2

convention 7|7t 2[MEZS Ijf 51| HlE J[ZHO|M &2 BI= 2 HEt Al A (start E= end)

dr = pd.date_range('2020-01-01", periods=200, freg='D")
ts = pd.Series(np.random.randn(len(dr)), index=dr)
ts

2020-01-01  -1.056421

2020-01-02  -0.094451

2020-01-03 0.344301



2020-01-04
2020-01-05

2020-07-14
2020-07-15
2020-07-16
2020-07-17
2020-07-18

_1.525071
_1.491888
0.494544
0.544288
0.533294

—0.565676
—0.065898

Freq: D, Length: 200, dtype: float64

ts.resample('M') .mean()

2020-01-31  -0.191458
2020-02-29 0.153107
2020-03-31 0.139791
2020-04-30 -0.267224
2020-05-31 0.259763
2020-06-30  -0.017521
2020-07-31 0.365229

Freq: M, dtype:

float64

ts.resample('M', kind='period').mean()

2020-01  -0.191458
2020-02 0.153107
2020-03 0.139791
2020-04  -0.267224
2020-05 0.2597683
2020-06  -0.017521
2020-07 0.365229

Freq: M, dtypet: float64

periods=10, freg='T')

dr = pd.date_range( '2020-01-01",

ts = pd.Series(np.arange(10), index=dr)

ts
2020-01-01 00:00:00
2020-01-01 00:01:00
2020-01-01 00:02:00
2020-01-01 00:03:00
2020-01-01 00:04:00
2020-01-01 00:05:00
2020-01-01 00:06:00
2020-01-01 00:07:00
2020-01-01 00:08:00
2020-01-01 00:09:00

Freqg: T, dtype:

ts.resample('2T",

int64

2020-01-01 00:00:00
2020-01-01 00:02:00
2020-01-01 00:04:00
2020-01-01 00:06:00
2020-01-01 00:08:00

Freq: 2T, dtype: int64

OCOoO~NO Ok~ wWwNn — O

1
1

~N W O o1 —

closed="left").sum()



ts.resample('2T", closed="right"').sum()

23:58:00
00:00:00

1
2020-01-01
1.00:02:00
1
1

2019-12-3
1
2020-01

-0
-0
2020-01-01 00:04:00
2020-01-01 00:06:00

2020-01-01 00:08:00
Freqg: 2T, dtype: int64

—_
O 01 = N wo

ts.resample('2T', closed='right', label="right').sum()

2020-01-01 00:00:00 0
2020-01-01 00:02:00 3
2020-01-01 00:04:00 /
2020-01-01 00:06:00 11
2020-01-01 00:08:00 15
2020-01-01 00:10:00 9

Freq: 2T, dtype: int64

ts.resample('2T', closed='right', label="right', loffset='-1s").sum()

2019-12-31 23:59:59 0
2020-01-01 00:01:59 3
2020-01-01 00:03:59 /
2020-01-01 00:05:59 11
2020-01-01 00:07:59 15
2020-01-01 00:09:59 9

Freq: 2T, dtypemint64

ts.resample('2T").ohlc()

open high 1low close

2020-01-01 00:00:00 0 1 0 1
2020-01-01 00:02:00 2 3 2 3
2020-01-01 00:04:00 4 5 4 5
2020-01-01 00:06:00 6 7 6 7
2020-01-01 00:08:00 8 9 8 9

df = pd.DataFrame(np.random.randn(10, 4),
index=pd.date_range('2019-10-01', periods=10, freg='M"),
columns=['C1', 'C2', 'C3', 'C4'])

df



2019-10-31
2019-11-30
2019-12-31
2020-01-31
2020-02-29

2020-03-31

2NN NA 2N

c1
-1.942787
0.560426
0.887624
1.157783
-0.199500

-0.244514

N 2NE2EA

df .resample('Y").asfreq()

2019-12-31

2020-12-31

df .resample('W-FRI"').asfreq()

Cc1

0.887624

NaN

c2 c3
1.377695 -0.425404
0.665310 -0.228888
-1.821641 -0.613763
-1.730131  1.686589
-0.977584 -0.412742

-0.388788 -1.052303

N 2277092 N N"7NANE

c2 c3
-1.821641 -0.613763

NaN NaN

c4
-0.445326
-1.205160
-1.333571
0.718557
1.807881

0.586320

N oNNE21

Cc4

-1.333571

NaN



Cc1 Cc2 c3 Cc4

2019-11-01 NaN NaN NaN NaN
2019-11-08 NaN NaN NaN NaN
2019-11-15 NaN NaN NaN NaN
2019-11-22 NaN NaN NaN NaN
2019-11-29 NaN NaN NaN NaN
2019-12-06 NaN NaN NaN NaN
2019-12-13 NaN NaN NaN NaN
2019-12-20 NaN NaN NaN NaN
2019-12-27 NaN NaN NaN NaN
2020-01-03 NaN NaN NaN NaN
2020-01-10 NaN NaN NaN NaN
2020-01-17 NaN NaN NaN NaN

df .resample('H').asfreq()

C1 C2 Cc3 Cc4

2019-10-31 00:00:00._-1:942787 1.377695 -0.425404 "-0.445326

2019-10-31 01:00:00 NaN NaN NaN NaN
2019-10-31 02:00:00 NaN NaN NaN NaN
2019-10-31 03:00:00 NaN NaN NaN NaN
2019-10-31 04:00:00 NaN NaN NaN NaN
2020-07-30 20:00:00 NaN NaN NaN NaN
2020-07-30 21:00:00 NaN NaN NaN NaN
2020-07-30 22:00:00 NaN NaN NaN NaN
2020-07-30 23:00:00 NaN NaN NaN NaN

2020-07-31 00:00:00 -2.055520 0.843720 -0.299770 1.656547

6577 rows x 4 columns

df .resample('H") . ffill()



Cc1 c2 c3 c4
2019-10-31 00:00:00 -1.942787 1.377695 -0.425404 -0.445326
2019-10-31 01:00:00 -1.942787 1.377695 -0.425404 -0.445326
2019-10-31 02:00:00 -1.942787 1.377695 -0.425404 -0.445326
2019-10-31 03:00:00 -1.942787 1.377695 -0.425404 -0.445326

2019-10-31 04:00:00 -1.942787 1.377695 -0.425404 -0.445326

2020-07-30 20:00:00 0.394069 -1.670554 -0.886881 -1.174432

2020-07-30 21:00:00 0.394069 -1.670554 -0.886881 -1.174432

df .resample('H") . ffill(limit=2)

Cc1 c2 Cc3 c4
2019-10-31 00:00:00 -1.942787 1.377695 -0.425404 -0.445326
2019-10-31 01:00:00 -1.942787 1.377695 -0.425404 -0.445326

2019-10-31 02:00:00 -1.942787 1.377695 -0.425404 -0.445326

2019-10-31 03:00:00 NaN NaN NaN NaN
2019-10-31 04:00:00 NaN NaN NaN NaN
2020-07-30 20:00:00 NaN NaN NaN NaN
2020-07-30 21:00:00 NaN NaN NaN NaN
2020-07-30 22:00:00 NaN NaN NaN NaN
2020-07-30 23:00:00 NaN NaN NaN NaN

2020-07-31 00:00:00 -2.055520 0.843720 -0.299770 1.656547

6577 rows x 4 columns

df .resample('Q-DEC") .mean()

Cc1 c2 c3 ca
2019-12-31 -0.164912 0.073788 -0.422685 -0.994686
2020-03-31 0.237923 -1.032168 0.073848 1.037586
2020-06-30 0.379846 -0.471367 -0.192646 -0.360235

2020-09-30 -2.055520 0.843720 -0.299770 1.656547

df .resample('Y") .mean()



c1 c2 c3 c4
2019-12-31 -0.164912 0.073788 -0.422685 -0.994686

2020-12-31 -0.028887 -0.523840 -0.093738 0.526943

v 24 21 & 2(Moving Window)

df = pd.DataFrame(np.random.randn(300, 4),
index=pd.date_range('2020-01-01", periods=300, freg='D"),
columns=['C1', 'C2', 'C3', 'C4'])

Cc1 Cc2 Cc3 Cc4
2020-01-01  0.558996 -0.317758 1.276503 2.713060
2020-01-02 -0.127756 -1.450317 -0.599810 0.064586
2020-01-03 2.057265 2.112478 0.135372 1.108773
2020-01-04 0.330530 1.539590 -0.603751 -1.221122

2020-01-05 -0.967048 -0.647928 0.195913 -0.989493

2020-10-22 -0.752786- .0.792270 0.752290 0.626881
2020-10-23 17769088, 0:594816--0.880872=0.235238
2020-10-24 0.799666° 0.37384810.437941 1.862933
2020-10-25 -0:349840 -1.329729 '@ 0.322836| 1290295
2020-10-26 -1.245695 -0.339869 -0.340915 -0.020850

300 rows x 4 columns

df.rolling(30).mean().plot()

<matplotlib.axes._subplots.AxesSubplot at ©x7f286ec72ac8>
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df.rolling(60).mean().plot()

<matplotlib.axes._subplots.AxesSubplot at ©x7f286d19bboo>
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df.C1.rolling(60, min_periods=10).std().plot()

<matplotlib.axes._subplots.AxesSubplot at @x7f286cc24048>

120 A

115 A

110 A

105 A

T T T
Jan  Fel Mar Apr  May Jun Jul Aug  Sep Oct

df.rolling(60, min_periods=10).std()[10:50].plot()

<matplotlib.axes._subplots.AxesSubplot at ©x7f286cb440f0>
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df.rolling(60, min_periods=10).std().expanding().mean().plot()

<matplotlib.axes._subplots.AxesSubplot at @x7f286d5b8550>
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df.rolling(60).mean().plot(logy=True)

<matplotlib.axes._subplots.AxesSubplot at @x7f2870c48b70>
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df.rolling('20D") .mean().plot()

<matplotlib.axes._subplots.AxesSubplot at @x7f286c80f978>
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df.C1.rol1ing(30, min_periods=20).mean().plot(style='——", label='Simple MA")
df .C1.ewn(span=30).mean().plot(style='-", label="EWMA")

<matplotlib.axes._subplots.AxesSubplot at @x7f286c93bdad>
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df.C1.rolling(100, min_periods=50).corr(df.C3).plot()

<matplotlib.axes._subplots.AxesSubplot at ©x7f286c935eb8>
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df.C2.rol 1ing(100, min_periods=50).corr(df.C4).plot()



<matplotlib.axes.

_subplots.AxesSubplot at @x7f286c38e470>

HOIH 17| R M%
g 29
read_csv o, URL, M 25 EH F2& HOIE 87| (7|12 F&Xk)
read_table o, URL, AM 258 EH F2& HOIE 87| (712 T2k \t)
read_fwf IYE AH HAO|A HO[H 87| (=Xt 8= HI0|H)
read_clipboard S EEEO0 A= CI0IH &17]. AEHO|X|0f A= HE A0S I} F&
read_excel ol 1k (xls, xIsx) 0l A H & Al T|O|H &7
read_hdf PandasOi| Al X%t HDFS It 2| H|O|Ef &} 7|
read_html HTML 2A Lfel 2= H|O|S C|0|H 87|
read_json JSONO| A H|O|H &7
read_msgpack O A|X| 2 Hio|H 2| ZZBHe 2 913 Tl &l pandas H|O|E 817|
read_pickle OO I 2 oo 2 XMEHE ZHA 97|
read_sas SAS A|AEIO| AFERLTH | M7 =B H|O[H §{7|
read_sql SQL E 2| Z1tE DataFrame A2 2 817|
read_stata Stata It 0| A Ci|O|Ef &17|
read_feather Feather HHO|{ 2| I ZBEO[ G| O|E{ 87|
El

AE I} Q7| /AT

%ewr itefile
a, b, ¢, d,
1, 2, 3, 4,
6, 7, 8, 9,
11, 12, 13,

examplel.csv
e, text

5, hi

10, pandas
14, 15, csv

Writing examplel.csv

examplel.csv sample_data

pd.read_csv('examplel.csv')

a b ¢ d e
0 1 2 3 4 5
1 6 7 8 9 10
2 11 12 13 14 15

%%writefile example2.csv
1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas
11 12 12 14 1k

(V)

text
hi
pandas

Csv



Ty U= p v, 17T, v, wvov

Writing example2.csv

pd.read_csv('example2.csv', header=None)

0 1 2 3 4 5
0 1 2 3 4 5 hi
1 6 7 8 9 10 pandas

2 11 12 13 14 15 csv

pd.read_csv('example2.csv', names=['a', 'b', 'c¢', 'd',

a b C d e text
0 1 2 3 4 5 hi
1 6 7 8 9 10 pandas

2 11 12 13 14 15 csv

pd.read_csv('example2.csv'vnames=['a', b', 'c', d',

text
hi 1 2 3 4 5
pandas 6 «7..'8' 9 “10

csv 11 12 13 14 15

%hwritefile example3. txt
a b c

1 0.1 0.2 0.3

2 0.4 05 0.6

3 0.7 0.8 0.9

Writing example3.txt

pd.read_table('example3.txt', sep='ts+')

a b C
1 01 02 03
2 04 05 06

3 07 08 0.9

, text'])

, text'], index_col="'text"')



WHOWT 1 TET | 1€ examp | e4. Csv
# Wt 29

a, b, c, d, e, text

# 282 a, b, ¢, d, e textIl US
1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas

11, 12, 13, 14, 15, csv

Writing example4.csv

pd.read_csv('exampled.csv', skiprows=[0, 2])

a b ¢ d e text
0 1 2 3 4 5 hi
1 6 7 8 9 10 pandas

2 11 12 13 14 15 csv

%%writefile exampleb.csv
a, b, c, d, e, text

1, 2, NA, 4, 5, hi

6, 7, 8, NULL, 10, pandas
11, NA, 13, 14, 15, csv

Writing exampleb.csv

pd.read_csv('example5.csv™)

a b C d e text
0 1 2 NA 4 5 hi
1 6 7 8 NULL 10 pandas

2 11 NA 13 14 15 csv

%%writefile exampleb.csv
a, b, ¢, d, e, text

1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas

11, 12, 13, 14, 15, csv
1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas

11, 12, 13, 14, 15, csv
1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas

11, 12, 13, 14, 15, csv
1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas

11, 12, 13, 14, 15, csv
1, 2, 3, 4, 5, hi

6, 7, 8, 9, 10, pandas



11, 12, 13,

14,

15, csv

Writing example6.csv

pd.read_csv('example6.csv',

df = pd.read_csv('example6.csv')

df

10
1"
12
13

14

6

11

12

2

7

12

8

13

3

8

13

d

4

9

14

4

9

14

df .to_csv('output.csv')

lcat output.csv

,a, b, ¢, d, e, text
0,1,2,3,4,5, hi

nrows=5)

e

5

text

h

10 pandas

15

5

Csv

h

10 pandas

e

10

15

10

10

15

10

15

10

15

text

h
pandas
csv

h
pandas
csV

h
pandas
csv

h
pandas
csv

h
pandas

Csv



1,6,7,8,9,10, pandas
2,11,12,13,14,15, csv
3,1,2,3,4,5, hi
4,6,7,8,9,10, pandas
5,11,12,13,14,15, csv
6,1,2,3,4,5, hi
7,6,7,8,9,10, pandas
8,11,12,13,14,15, csv
9,1,2,3,4,5, hi
10,6,7,8,9,10, pandas
11,11,12,13,14,15, csv
12,1,2,3,4,5, hi
13,6,7,8,9,10, pandas
14,11,12,13,14,15, csv

dr = pd.date_range('2020-01-01", periods=10)
ts = pd.Series(np.arange(10), index=dr)
ts

2020-01-01
2020-01-02
2020-01-03
2020-01-04
2020-01-05
2020-01-06
2020-01-07
2020-01-08
2020-01-09
2020-01-10
Freq: D, dtype: int64

OO ~NO o~ wN — O

ts.to_csv('ts.csv', header=["value*})

lcat ts.csv

,value
2020-01-01,
2020-01-0
2020-01-03,
2020-01-04,
2020-01-05,
2020-01-086,
2020-01-07,
2020-01-08,
2020-01-0
2020-01-1

%%wrlteflle example.json

[{II . , IIbII '2 IICII 3 Ildl\ :4 II n 5}
{II " IIbII :7 || " 8 IIdH :9’ || . 10}
{II II. ”b“:12, ”C“:13, ”d“:14, || II. 5}]

Writing example.json

lcat example.json



. , “b“:2, HC“:B, Hdll:4’ ||e||:5},
, “b“:7, ”C“:8, Hdll:9’ ||e||:10},
: 17 ||b||:12y ||C||:13y ”d“:14, |Iell:15}]

2 11 12 13 14 15

ts.to_json("output.json")

lcat output.json

{"1577836800000" : 0, " 1577923200000" : 1, " 1578009600000" : 2, " 1578096000000" : 3, " 1578182400000" : 4, "

»

df .to_json("output.json")

lcat output.json

{Ilall:{lloll:1’II1II:6,”2“:11’“3“:1,II4IT:6,|I5II:11,II6II:1’II7II:6,II8II:11,II9I|:1,II1OII:6’”11“:11’“12“:1’“

»

v O|ZI HIO|H It §17[/247]

df = pd.read_csv('examplel.csv')
df
a b C d e text
0 1 2 3 4 5 hi
1 6 7 8 9 10 pandas

2 11 12 13 14 15 csv

df .to_pickle('df_pickle")
pd.read_pickle('df_pickle')



a b C d e text

df = pd.DataFrame({'a': np.random.randn(100),
'b': np.random.randn(100),
'c': np.random.randn(100)})
df
a b C
0 -1.261616 1.382712 -0.426104
1 1.057429 -2.146040 -0.838184
2 0.610527 0.014495 1.148332
3 -0.035792 0.354276 -1.433421

4 -0.170993 0.382314 0.532502

95 1.270977 -0.844213 0.704958
96 -0.306064 1.620980 0.367980
97 -0.298462 -0:510507 1.416835
98 -0.633801 -1.552177 ~0.594091
99 0.647711 0.881097 1.686910

100 rows x 3 columns

h = pd.HOFStore('date.h5")

h{'obj1'] = df
h['obji_col1'] = df['a']
hl'obj1_col2'] = df['b']
h['obj1_col3'] = df['c']
h

<class 'pandas.io.pytables.HDFStore'>
File path: date.h5

hl'obj1']



a b o
0 -1.261616 1.382712 -0.426104
1 1.057429 -2.146040 -0.838184
2 0.610527 0.014495 1.148332

3 -0.035792 0.354276 -1.433421

A -N 17Nn0Q0R N 2R2°14 N RRDKN2

h.put('obj2', df, format='table')

h.select('obj2', where=["'index > 50 and index <= 60'])

a b o
51 0.335940 0.990830 1.328594
52 -0.546832 0.713767 0.155539
53 -0.154082 -1.657008 -0.500032
54 2422587 -0.254522 -0.355217
55 -0.468801 -0.768493 0.505517
56 0.667608 1.713248 / -1.843119
57 1.883762 0.199250 1.296229
58 0.621591" =0.108326( -0.650358
59 0.650828 -0:873431 "1:738071
60 0.299669.)-0.867400'_-0.440471

h.close()

df.to_hdf('data.h5', 'obj3', format='table")

pd.read_hdf('data.h5', 'obj3', where=['index < 10'])



a

0 -1.261616

1 1.057429

df .to_excel ('example.xIsx',

3 -0.035792

I'ls

data.hb5
date.h5

examplel.csv
example2.csv
df_pickle example3.txt

1.382712

-2.146040

b

C

-0.426104
-0.838184

'Sheet1')

0.354276 -1.433421

7 41 RARNM4 N QARR12 N EQ29RQ
pd.read_excel( 'example.xIsx', 'Sheet1')

Unnamed: © a b

0 0 -1.261616 1.382712

1 1  1.057429 -2.146040

2 2 _0.610527 0.014495

3 3 -0.035792 0.354276

4 4 -0.170993 0.382314

95 95/ 1.270977 -0.844213

96 96 -0.306064 1.620980

97 97 -0.298462 -0.510507

98 98 -0.633801 -1.552177

99 99 0.647711 0.881097

100 rows x 4 columns

~ HOl& EH|

o MRzl HX HOHZ2 %

« MELHE HOIHE2

SH R B FEUSO

CHE Eiel 258 718

o ZZGO|E{= null, NaN, NA 2 H7|

v None: IO|M &=

a = nn arravl( 1

2

= Ol

NAana

=

A R1)

exampled.csv example.json
exampleb.csv  example.xlsx output.json
example6.csv  exmapled.txt

(d
-0.426104
-0.838184
1.148332
-1.433421

0.532502

0.704958
0.367980
1.416835
0.594091

1.686910

output.csv

sample_data

i

H

ts.csv



array([1, 2, None, 4, 5], dtype=object)

#a.sum()
NaN: 2=l =X| G| 0| &

a =np.array([1, 2, np.nan, 4, 5])
a.dtype

dtype('float64")

0 + np.nan

nan

np.nan + np.nan

nan

57 SUGNIGD

"0 |0 HILE] LA

np.nansum(a), np.nanmin(a), np. nanmax(a

suan computer laboratory

(12.0, 1.0, 5.

pd.Series([1, 2, np.nan, 4, None])

1.0
2.0
NaN
4.0
NaN
type: float64

o MWW — O

s = pd.Series(range(5), dtype=int)
S

O R~NWN 2O
AWN = O

type: int64

s[0] = None

[a)



a

AOON =

0 N
1 0
2 .0
3 0
4 0
dtype: float64

s[3] = np.nan

s = pd.Series([True, False, None, np.nan])
S

0
1
2 None
3
d

type: object

v Null 2t X 2|

FEIE|ALENAQI 2H2 SE[Q UL
4 nTa b
}. MI_
o” I_E} ﬁr}ﬁ tqq-wg 7|-|:|-||AI: X-IQ_
I Str I I

s = pd.Series([1, 2, np. ing', None

; suan computer Iaboratory

0 1
1 2
2 NaN
3 String
4 None
dtype: object

s.isnull()

0
1
2
3 False
4 True
dtype: bool

s[s.notnul ()]

0 1
1 2
3 String
dtype: object



s.dropna()

0
1
3
d

1
2
String

type: object

df .dropna(axis='columns')

95

96

97

98

99

a
-1.261616
1.057429
0.610527
-0.035792

-0.170993

1.270977
-0.306064
-0.298462
-0.633801

0.647711

b
1.382712
-2.146040
0.014495
0.354276

0.382314

-0.844213

1.620980
-0.510507
-1.552177

0.881097

100 rows x 3 columns

df[3] = np.nan

df

c
-0.426104
-0.838184

1.148332
-1.433421

0.532502

0.704958
0.367980
1.416835
0.594091

1.686910



n

a

14 DA

b

4 2090749

C

N AN2ANA

df .dropna(axis='columns', how="all")

95

96

97

98

99

a
-1.261616
1.057429
0.610527
-0.035792

-0.170993

1.270977
-0.306064
-0.298462
-0.633801

0.647711

b
1.382712
-2.146040
0.014495
0.354276

0.382314

-0.844213

1.620980
-0.510507
-1.552177

0.881097

100 rows x 3 columns

df .dropna(axis="'rows" % thresh=3)

95

96

97

98

99

a
-1.261616
1.057429
0.610527
-0.035792

-0.170993

1.270977
-0.306064
-0.298462
-0.633801

0.647711

b
1.382712
-2.146040
0.014495
0.354276

0.382314

-0.844213

1.620980
-0.510507
-1.552177

0.881097

100 rows x 4 columns

d
-0.426104
-0.838184

1.148332
-1.433421

0.532502

0.704958
0.367980
1.416835
0.594091

1.686910

d
-0.426104
-0.838184

1.148332
-1.433421

0.532502

0.704958
0.367980
1.416835
0.594091

1.686910

NIANI

NaN

NaN

NaN

NaN

NaN

NaN

NaN

NaN

NaN

NaN



0 1
1 2
2 NaN
3 String
4 None
dtype: object

s.fillna(0)

O —

0

0
1
2
3 String
4
dtype: object

s.fillna(method="ffill")

0 1
1 2
2 2
3 String
4 String
dtype: object

3 suclnICIb

0
o 0|20 HITE] OJTLA
2 Strlng
3  String L
4 None

d

type: object Suan Computer |ab0rat0ry

df



0 -1261616 1382712
df . fillna(method="ffill", axis=0)

a b

0 -1.261616 1.382712
1 1.057429 -2.146040

2 0.610527 0.014495
3 -0.035792 0.354276
4 -0.170993 0.382314
95 1.270977 -0.844213
96 -0.306064 1.620980
97 -0.298462 -0.510507
98 -0.633801 -1.552177
99 0.647711  0.881097

100 rows x 4 columns
df . fillna(method="ffi 11", axis=1)

a b

0 -1.261616 1.382712
1 1.057429 -2.146040
2 0.610527 0.014495
3 -0.035792 0.354276
4 -0.170993 0.382314
95 1.270977 -0.844213
96 -0.306064 1.620980
97 -0.298462 -0.510507
98 -0.633801 -1.552177
99 0.647711 0.881097

a

b

100 rows x 4 columns

df .fillna(method="bfill"', axis=0)

C

-0.426104

d
-0.426104
-0.838184

1.148332
-1.433421

0.532502

0.704958
0.367980
1.416835
0.594091
1.686910

o
-0.426104
-0.838184

1.148332
-1.433421

0.532502

0.704958
0.367980
1.416835
0.594091

1.686910

3
NaN
3
NaN
NaN
NaN
NaN
NaN
NaN
NaN
NaN
NaN
NaN
3
-0.426104
-0.838184
1.148332
-1.433421
0.532502
0.704958
0.367980
1.416835
0.594091
1.686910



a b o 3
0 -1.261616 1.382712 -0.426104 NaN
1 1.057429 -2.146040 -0.838184 NaN
2 0.610527 0.014495 1.148332 NaN
3 -0.035792 0.354276 -1.433421 NaN

4 -0.170993 0.382314 0.532502 NaN

95 1.270977 -0.844213 0.704958 NaN
96 -0.306064 1.620980 0.367980 NaN
97 -0.298462 -0.510507 1.416835 NaN
98 -0.633801 -1.552177 0.594091 NaN
99 0.647711 0.881097 1.686910 NaN

100 rows x 4 columns

df.fillna(method="bfill’, axis=1)

a b c 3
0 -1.261616 1.382712 -0.426104 NaN
1 1.057429/-2.146040,7+0.838184 NaN
2 0.610527 0.014495 ".1.148332. NaN
3 -0.035792-,10.354276 -1.433421) NaN

4 -0.170993 0.382314 0.532502 NaN

95 1.270977 -0.844213 0.704958 NaN
96 -0.306064 1.620980 0.367980 NaN
97 -0.298462 -0.510507 1.416835 NaN
98 -0.633801 -1.552177 0.594091 NaN
99 0.647711 0.881097 1.686910 NaN

100 rows x 4 columns

v = MA

df = pd.DataFrame({'c1': ['a', 'b', '¢c'] *2+ ['b'] + ['c'],
'‘c2': [1, 2,1, 1, 2, 3, 3, 4]1})
df



cl c2

0 a 1
1 b 2
2 ¢ 1
3 a 1
4 b 2
5 ¢ 3
6 b 3
7 c¢c 4

df .duplicated()

0 False
1 False
2 False
3 True
4 True
5 False
6 False
7

d

e 3 suanlab

df .drop_duplicates( )0 |_J|=I0_I- ;ﬂ-l .IJ;I.E:I E:I"'f_

o = 1+ SUan computer laboratory
1 b 2
2 ¢ 1
5 ¢ 3
6 b 3
7 ¢ 4
- % x|

s = pd.Series([1., 2., -999., 3., -1000., 4.])
S

0 1.0

1 2.0

2 -999.0

3 3.0

4 -1000.

5 4.0
dtype: float64



s.replace(-999, np.nan)

0 1.0
1 2.0
2 NaN
3 3.0
4 -1000.0
5 4.0
dtype: float64

s.replace([-999, -1000], np.nan)

0 1.0
1 2.0
2 NaN
3 3.0
4 NaN
5 4.0
dtype: float64

s.replace([-999, -1000], [np.nan, 0])

a

O wWZMND —

0
0
N
0
0
0
float64

0
1
2
3
4
5
dtype:

Sk

ro

« Pandas AtO| E: https:/pandas.pydata.org/
e Jake VanderPlas, "Python Data Science Handbook", O'Reilly
e Wes Mckinney, "Python for Data Analysis", O'Reilly
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